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B 1 MHneda ng) First Serve Next Station (FSNS)

LAY 2 MR ng) Maximum Outgoing Queue Size (MOQS)

\n1 3 i ng) Serve Same Destination (SSD)

{81 4 Wuw ng First Come First Serve (FCFS)

1Al 5 MHEia nJ) Maximum Outgoing Queue Size (MOQS)

181 6 WHNTN N Shortest Distance (SD)

\®% 7 wawiie ng First In First Out (FIFO)

\@% 8 MNLTN NG Minimum Operation Remaining (MOR)

\@a 9 wueia ng Nearest Destination (ND)
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i ,
mﬂaﬁ n1 4AYEN Duncan’s muitipie range test ilanMUR AGV=1 Queue=1 Entity=40

Rule | Flowtime | Lateness | Numberotiobsin i jobs done | Tardiness | M/C utilization
central buffer

147 | 308.791f | -392.10e | 541bcd | 777.00d | 6.44b 78.16 e
148 | 316.287 g | -384.79 e,f 479ab 75860 ¢ 6.72 b 76.41¢
149 | 278.241b | -42424b | 8.61g.h 862.30h | 4.34a | 80.95h,
157 | 308.785f | -392.18e | S5.14abc | 776.80d | 653b | 77.96d.e
158 | 316.214g | -384.64 e/f 4692 759.30c | 6.77b 76.67 ¢
159 277.42b -424.96 b 8.77 g,h 865.00 h 4,55 a 81.40|
167 | 311.816f | -388.72¢e,i| 506abc | 769.70d | 6.50b 73.59 b
168 | 317.732¢g | -382.76 1,9 469 a 755.10c | 6.73b 7244 a
169 |280.116 b,c| -422.18b 816g |857.10gh| 432a | 77.14cd
247 | 300.452¢ | -401.98d 6.20 e f 798.70e | 6.48b 99,31 n
248 | 309.767f | -39164e | 507abec | 77450d { 6.63b 99.51 n
249 | 268.649a | -434.23a 10.36 | 893401 | 429a 95,96 m
257 | 300.452e | -401.98d 6.20 e,f 79870 e 648 b 99.31n
258 | 311.105f | -389.61ef| 4.92abec | 771.10d | 7.20bc | 99.84n
259 | 268.536a | -434.31a 10.36 i 893.30 | 429a 96.04 m
267 | 300.452e | -401.98d 6.20 e,f 798.70e | 6.48b 99.31n
268 | 300932f | -391.33e | 496abc | 77430d | 714bc | 99.20n
269 | 269.075a | -433.77 a 10.63 | 892,001 | 4.20a 95,121
347 | 315.724g | -385.23e,f| 6,17 &/f 760.70¢ (- 8.09d 87.56 j
348 | 324501 h | -37590gh| 559cde | 739.30b | 859de | 90.45k
349 | 282.372¢c | -419.98b 9.08 h 850.40g |  472a 87.69 |
357 [316.43g | -384.68ef| 6.12ef 758.30c | 8.00¢c,d | 87.96]
358 | 325.748h | -37445h | 552c¢cde | 73650b | 9.30e 90.48 k
359 | 282197¢c | -420.23 b 9.12.h 850.30 g 510a 88.22 |
367 | 325.715h | -374.23h 6.46 f 736.40b | 12.75f | 79.71fg
368 | 331.3661 | -369.06h | 598def | 723.70a | 13.49f | 80.22gh
369 | 292.038d | -410.62¢ 8.92h 82240f | 6.83b 79.16 f
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d o o
mﬂqﬁ N2 ua1e Duncan’s muitiple range test iINANTMUA AGY=1 Queue=1 Entity=60

Rute | Flowtime | Lateness |Numberofjobsin{ johs done | Tardiness |M/C utilization
central buffer

147 462.33 -238.85f 532ab 778.00d | 30.16¢c.d 78.01d
148 473.71g | -227.11g,h 478a 750.70 ¢ 32.19d 76.32¢
149 415.67b | -286.80b,c 9.07 ¢ 866.40 h 2041 a 8241e
157 462,33 f -238.85f 5.32ab 778.00d | 30.16cd 78.01d
158 473.71g | -227.11gh 478 a 759.70 ¢ 32.19d 76.32¢
159 41567b | -286.80b,c 9.07 f 866.40 h 2041 a B82.41e
167 467.51 f -232.91 1,9 513a 769.60d | 30.97cd 73.55b
168 476,57 g -223.94h 4.69a 755.10 ¢ 33.24d 72.44 a
169 421.77¢ | -280.63cd 823e 853.890 g 21.06a 76.89¢
247 450.63 e -25164 e 6.06bc 798.50 e 2854 ¢ 100.00 (
248 464.19 f -237.02¢ 512a 775.70d 31.69d 100.00 i
249 398.87 a -304.98 a 1107 g 901.90 1| 18.69 a 99.98 |
257 45063 e 25164 e 6.06 bc 798.50 e 2854 ¢ 100.00|
268 464,19 f -237.021 512a 77570d 31.69d 100.00 |
259 398.87 a -304.98 a 1.07g 901.90 | 18.69 a 99.98 |
267 450.63 e -251.64 ¢ 6.06 b,c 798.50 e 2854 ¢ 100.00 1
268 464,96 f -236.21 1 S5.14 a 773.90d 31.94 d 99.48 k|
269 399.66 a -304.11a 11.30g,h 901.90 1 19.47 a 98.91k
347 477.02 g -22317h 7.61de 75480 ¢ 46.07 f 90.74 h
348 487,75 h -212.351 6.48 ¢ 737.90 b 49.22 g 94.31]
349 411.99b -289.69b 11.83 h,i 873.60 h 2440b 92.46 |
357 477.02g -223.17 h 7.61de 754.80 ¢ 46.07 f 90,74 h
358 | 487.75h | -212.35] 6.48 737.90b | 49.22¢g | 94.31]
359 41219b -289.63 b 12.08 | 873.60h 24.32b 92481
367 484.53 h -215.54 1 7.62de 744.00 b 70.11h 86.23g
368 497,95 | -202.62 j 7.21d 723.40 a 76.73 1 85.78 g
369 42653 d -275.81d 11.25g;h 845,00 f 40.65e 84,36 f
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d . .
mﬂaﬁ n3 uaea3 Duncan's multiple range test INENWUA AGY=1 Queue=1 Entity=80

Rule | Flowtime | Lateness |Numberofjobs | johs done | Tardiness |M/C utilization
in centrel buffer
147 616.43 e -84.77 f 532ab 778.00d | 8291 de 78.01d
148 631.44f | -69.38 g,h 478 a 759.70 ¢ 89.48 { 76.32¢
149 554.20b | -148.26b,c 907e 866.40g | 57.95ab 8241e
157 616.43 e -84.77 f 532ab | 778.00d | 82.91de 78.01d
158 631.44f | -69.38 g,h 478a 759.70 ¢ 89.48 f 76.32¢
159 55420b | -148.26 b,c 907e 866.40 g . 5795ab 8241e
167 623.24e | -77.18fg 513a 769.60d | 86.13ef 7355b
168 635.31 f -65.18 h,i 469a 755.10¢ 91.49f 7244 a
169 562.38¢c | -1 40.03 cd 823d 853.90 f 60.56 b 76.89¢
247 60083d | -101.45¢e 6.06 b 798.50 e 77.31d 100.00 m
248 618.84 ¢ -82.36 f 512a 77570d | 85.42ef | 100.00m
249 53268a | -170.84 a 11.49 f,g 901.00 52,34 a 100.00 m
257 600.83d | -101.45¢e 6.06 b 79850 ¢ 77.31d 100.00 m
258 61884 e -82.36 f 512a 775.70d | 85.42e¢f § 10000 m
259 53268a | -170.84a 11.49f,g | 901.00i 5234 a 100.00 m
267 600.83d | -101.45¢ 6.06 b 798.50e | 77.31d 100.00 m
268 619.89 e -81.28 f 514 a 773.90d | 8596ef | 93.48|m
269 532.81a | 17094 a 11.30f 901,00 | 52,43 a 98.911
347 636.33 f -63.59 h,i 8.40de 754.70¢c | 125.43h 92.22i
348 651.77 h -48.59 7.04c 736.30b | 12571 h 9517k
349 547.69b | -153.90b 12.19g.,h | 876,60 h 67.22 ¢ 93.77 |
357 636.33 f -63.59 h,i 8.40de 75470¢c | 12543 h 92.22i
358 €651.77 h -48.59 704c 736.30b | 12571 h 9517k
359 547690 | -153.90b 1219gh | 876.60h 67.22 ¢ 93.77 ]
367 644.02 g -56.82 i,j 7.96 d 743.90 b 183.43 -87.15g
368 663,62 -36.86 k 7.88d 723.60 a 176.561 87.83 h
369 565.43¢ | -137.01d 1240 h 848.70f | 117.94¢g 85.79f
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-l - o
M99 N4 HATDY Duncan's multiple range test LNBNYWNA AGV=1 Queue=3 Entity=40

Rule | Flowtime | Lateness |MNumberofiobs —jobsdone | Tardiness | M/C utilization
in central buffec
147 268.03¢ | -435.18bc | 4.08def 895.80h |349bcd 71.73 g,h‘
148 | 272.61de ) -42952c,d | 361cd 880.80f,g | 3.79c,de 71.30¢g
149 25231 a -449.69 a 6.18 h 950.60 j 2.76 a 73.97 k
157 268.19¢c | -433.78b,c | 4.04def 891.60 h 3.70cd.e 73.35jk
158 27447e | -427.33cd | 3.62cd 874.80 f 4.26 e.fg 72.83i
159 251,28 a -450.86 a 6.67 h 954.80 | 293ab 74.68 |
167 | 270.63cd | -433.22b,c 419ef 88750g,h | 365cde 73.23 )k
168 274.09¢ | -42762cd | 3.69cdef 87530 f 3.95d.ef 7221 0,
169 251.37 a -450.53 a 6.60 h 954.80 2.7%a 75.24 1
247 280.18f -421.90de | 295ab 857.00e |4.11def.g 65.73 e
248 290.36 g 412,16 f 255a 826.80d 4,66 g 63.75b,c
249 263.66 b -439.60 b 4.84¢ 910.70i d.16ab.c 69.62 f
257 280.18 f -421.90de | 285ab 857.00e |4.11defg 65.73 e
258 289.48 ¢ -412.87 f 245a 828.90d 466g 63.89 b.c
259 262.48 b -440.60 b 4,78 g 915.30i 312abc 69.90 f
267 280.18 ¢ -42180de | 295ab 857.00e }4.11defg 65.73 e
268 29013 g -41217 1 250a 826.80d 4.59 f.g 63.82 b,c
269 263.43b -440.14 b 4849 911.10i 3.20abc 69.67 f
347 308.03 j -393.28 h 3.19bc 77920 a 5.49i 63.26 a,b
348 307.68 | -393.92 h 331bc 77990 a 5.33 h,i 63.36 a,b
349 297.38 h -405.16f,g | 3.65¢,d.e 807.20¢c 468¢g 64.83d
357 306.09 | -39540h | 366cde | 784.10a 5.64i 62.60 a
358 306.79 -394.66 h 3.57cd 78250 a 5.84i 62.65a
359 294.21 h -408.621,g | 410def 81540¢ 4,78g,h 64.46c,d
367 301.30i -401,01g,h | 4.07def 796,30 b 5.60i 63.75b,c
368 301.43i -400.95 g.h 4,22f 796.00 b 5.36 h,i 63.55 b
| 360 | 288.91g | -413.70ef | 477g 830.80d | 4.78g.,h 65.59 e




116

-l ‘ N .
AT 1S HATBY Duncan's multiple range test INENTMUA AGV=1 Queue=3 Entity=60

Rule |- Flowtime | Lateness [Numberofjobs| johs done | Tardiness | M/C utilization
In central buffer
147 | 421.41e¢ |-28080cde | 444cd 854.60i,j 22.23 b,cd 79.78 g.,h,i
148 | 428.42f | -27463efg | 3.70ab 841.00h | 23.82c,d,ef 79.24 g
149 | 386.47 ab | -315.75ab 7.24 | 93260 m 16.49 a 82.61 k
167 | 42284e | -279.56def (453c,de | 851.20i 2353 cdef { 80.15h,,
158 | 43470 g,h | -267.73gh | 3.83ap | 82850fg | 25.46fgh | 79.51fgh
159 | 387.69b | -314.61ab 7.717m 928.20m 16.81 a 83.54 |
167 | 413.88d -288.20 ¢ 4.08b.c 871.00 k 20.78b 75.02b
168 |417.79d,e| -284.81c,d | 4.03bc | 86230k 21.78b.c 73.28 a
169 | 382.16a -319.72 a 7.391,m 942.20 n 16.23 a 78.69ef
247 | 430.32f,g |-272.41efgh| 413 bc | 836.60g,h | 2257 bcd 8225k
248 449,65 -252.81i 3.39a 80080 e 27.45h 82.74 k||
249 | 393.98¢ -309.13 b 6.65 k 914.60 | 16.19 a 80.54i ]
257 | 430.32f,g |-272.41efgh| 4.13bc | 83660gh | 2257 becd 82.25k
258 448,60 i -254,151 J46a 802.50 e 26.88 g,h 82.79 k||
259 | 393.33c -308.55b 6.64 k 915.70 1 1595 a 80,361
267 | 430.321,g {-272.471 efgh) 4.13b,c | 836.60gh | 2257 becd 82.25k
268 448,101 -254.53i 3.46a 80320 e 26.53 g.h 8§2.85k|l
269 | 35294c -310.09 b 6.76 kK 916.90 | 15.92a 80.62 j
347 | 47512k | -22549 k! - 517fgh | 757.80b,c 33.52i 76.43¢
348 | 486.82n -213.77Tm | 481def | 739.70a 37.96 76.62 ¢
349 | 436.97 h -265.71h 616 824201 2417 d.ef 77.48d
357 | 470.38jk -229.81 ).k 535g,h | 766.20c,d 33.581 78.28 e
358 | 480.89m | -21960Im | 495efg | 749.20b 36.72 79.39fg,h
359 | 429.38f,g [-272.99e,f,g,h] 6.64k 838.40gh | 23.00bcde | 791119
367 468.47 -232.11) 5.83i 768.50 d 35.89 73.86a
368 | 478.101,m | -222.07 k| 5.51 h,i 752,70 b 37,72 73.89a
369 | 430.411,g | -272.10f,g.h 711k | 836.50¢g,h | 25.07 e, 75.04b
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-l o .
AN N6 HAEBY Duncan's multiple range test tNanwum AGV=1 Queue=3 Entity=80

Rule | Fiowtime | Lateness |Numberofjobs) johs done | Tardiness | M/C utilization
in central buffer
147 | 562.45e,f | -139.75 e/f 434 a 85290¢g,h | 62.29d,e 80.49 e
148 576.43¢g | -126.03g 3.86a 832,70 f 67.88 f 79.62d
149 520.60b | -181.99b | 7.68fg 92340k | 4753ab B4.30 g
157 | 562.45e,f | -130.75 ef 434 a 85290 gh | 62.29d,e 80.49 ¢
168 | §76.43g | -126.03 ¢ 3.86 a 832.70 f 67.88 f 79.62d
159 521.76 b -181;»' b 797g 920.00 k 4798 b 84.24 g
167 5561.88d | -150.19d 4082 871.001i 57.75¢ 75.02b
168 [556.56 de | -146.03d.e 430a |{86270h, | 59.37cd 7358 a
169 500.67a | -192.33a | 7.51efg | 942201 4372 a 78.55¢
247 605.88 n -96.40 h 580 ¢ 79240 e 78.55¢g 99.390
248 622.65i -77.561 4.97b 771.40d 87.97 h 99.59 0
249 536.74c | -166.39¢ 9.71 h,i 894.20 51.12b 97.57 n
257 605.88 h -96.40 h 5.80c 79240 e 78.55g 99.390
258 624.891, -75.79 500b 768.00d 88.36 h 99.67 0
259 536.23¢ | -167.03¢c 9.74 | 895.20 | 50.98 b 97.34 n
267 605.88 h -96.40 h 580c 79240 e 7855 ¢ 99.390
268 622.96 i -77.51} 505b 77050 d 87.18n 99.54 0
269 535.23¢c | ~167.88¢ 10.011 896.80 | 50.13b 97.21n
347 634.21 kK -66.04 6.94d.e 757.00 ¢ 96.58 i 90.34 i
348 670.41m -29.69 | 5.83¢c 715.80a | 11413,k 93.63 1
349 565.29 f -137.05¢ 9.49 hi 850.00g | 64.62¢ef 91.15j
357 | 630,01k | -70.65i) 6.98de |[761.70¢cd| 93.70i 90.61 1,
358 669.14 m -31.59 1 5.85¢c 717,20 a 112,73 04,69 m
359 | 659.22¢ef |-14299def] 9.53h,i |858.10g,h|60.62c,de 92.26 k
367 635.07 k -65.31 } 7.34def | 756.60c | 114.21jk 82.57 {
368 659.191 -41.25K 6.90d 729.00b | 117.06k 85.52 h
369 565.27 f -137.02 f 9.12h 849.40 g 76.15¢g 83.75g
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d o
mﬂaﬁ N7 ua194 Duncan's multiple range test INENWUA AGV=1 Queue=>5 Entity=40

Rule | Flow time Lateness | Numberofjobs | jobs done | Tardiness M/C

i canatoufer utiization
147 24936 b,c,d,e}! -45262b 3.18g.h,ij | 96230 |2.74abcde| 73.23ij
148 25317 e -448.67 b,c | 273 8,f.g 947.50h [291ab,cdel| 72.21n
149 240.35 a -461.91 a 4621 999.00 k 2.38a 75.92 k
157 | 247.55b,cd -454.28 b 336,k 970.10j 273abcd | 73.74)
158 251,53 d,e -450.77 b 2,831 953.90h, | 269ab,cd | 72.63 h,i
159 23937 a -462.57 a 4771 1003.60 k 259 ab,c 76.20 k
167 | 248.06 b,c,d -453.78 b 3.30hijijk | 967.30ij | 272ab,cd | 73.96]
168 | 251.25¢c,de -450.90b | 3.031,g,h,i { 955.10h,i |2.89 a,b,c,d,e{73.03 h,i]
169 239.72 a -462.45 a 4,751 1001.90 k 237a 76.19k
247 259.60 f -442.77cd | 216bcd | 92450g !283abcdel 70.28¢g
248 269.52 i -433.16 efg 1.50 a 890.80c,d | 3.08b.c,def| 67.72d
249 24715b -454,48 b 3.64)k 971.60j 2.60a,b.c 73.78]
257 259.60 f -442.77cd | 216becd | 92450g |283abcde] 70.28¢g
258 268.37 h,ij | -438.81 e,ig 1.58a 894.20c,d,e| 3.23d,ef,g |68.04d,e
259 24671 b -454,73 b 3.71k 973.50 249ab 73.91]
267 259.60 f -442.77¢cd | 216becd | 92450g (2.83ab,cde 70.289
268 268.44 h,ij | -434.55e/f.g 1.64 a 894.00cde| 3.23de,fg |68.02d,e
269 24730 b.c -454.36 b 3.75k 970.80 | 260abc 73.73j
347 27831 m -424.30 h 1.85a,b B62.70 a 3.70 g,h 65.68 a
348 276.97\m -425.13 h 1.92a,b,c 867.50 a 3.58f,g,h [66.00ab
349 274,09k, -427.71g.,h | 1.96a,b,c | 87540a,b | 3.32d,e,i,g,h |66.67 b,c
357 276.53!,m -425.44 h 221bc,d | 86860a 3.84h 65.96 a,b
358 276.49|,m -425.58 h 225b,cd 868.30 a 3.66fgh |65.96ab
359 271.82jk -430.51f,g,h | 235¢c,d,e | 88290 b,c | 3.36efg.h [67.17 c,d
367 266.28g,h} | 437.05d,ef| 263def |901.60d,ef]| 3.29 d,efg.h | 68.66¢ef
368 264.94 g,h -438.54de | 264d,ef | 906.10ef | 3.22c,defg!| 69.04f
369 262.841,g -440.22de | 287fg.h | 913.701g | 3.12¢,d,e,f.g | 69.53 f,g
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o d .
M990 N8 HATDY Duncan’s multiple range test INBNIMUM AGV=1 Queue=5 Entity=60

Rule | Flowtime | Lateness | Numberofjobsin | johs done | Tardiness M/C
centel bfler utitization
147 367.88b | -333.92b,c | 3.86defg | 97890g | 13.42bc 77.45i
148 376.83 ¢ -325.38d 339c¢cd 955.60 f 1458 cd 76.41 h
149 34890 a -353.22 a 7.32k 1031.80 h 11.17a 79.66 k
157 37476c | -327.03cd | 4.01efgh 960.90 f 15.38de 78.57
158 383.08d | -319.01de 3.09¢ 940.20 e 16.43 o,f 78.08i,
159 349,54 a -352.59 a 7.45k 1030.00 h 1166 a 80.43 kI
167 382.24d | -31967d,e { 3.94defgh | 94150e 17.23f 77.82i
168 382.76d | -3 934de | 362cdef | 941706 16.58 o, 76.16 h
169 349,87 a ~352.25a 7.56 k 1028.10 h 11.69a 81.04 |
247 387.28 d -314.97 e 235b 93040e .| 1422cd 70,74 ¢
248 403.40 ¢ -299.53 { 165a 89280 d 17.031 68.04 ¢
249 367.99b | -333.84b,c | 4.18fg.h, 978.10g | 11.85apb 74.36 g
257 387.28d -314.97 ¢ 235b 93040e | 14.22cd 70.74 f
258 40475 ¢ -298.12 f 1.74 a 889.90d 17161 67.79d,e
259 366.50 b -335.36 b 4.16 f,g,h,i 982.40g | 1202ab 74,68 g
267 387.28d -314.97 e 235b 93040e | 1422cd 70,74 f
268 403.61 e -299.36 f 1.64 a 892.50 d 17.10¢ 67.97 de
269 366.14 b -335.57 b 426 g,hi 983.10g { 11.90ab 7474 g
347 | 43514 hi -267.511 338 cd 826.70 a 22831 65.37 b
348 | 432,97 hi -269.44 i 357 cde 831.00 a 22.96,k 65.51b
349 | 4196619 -282.40 g 3.86d,e.f.g 857.90c | 19.73g,h | 67.11¢cd
357 437.67 i -265.10 1 3.75d.efg 822.60 a 24,45k 64.30 a
358 431,20 h -271.21 hi | 3.85defg | 834.90ab | 2271 65.11ab
359 418,56 f -283.87 g 4.24 g,h,i 858.60c | 20.19g,h 66.60 ¢
367 42423 g | -278.56 g,h 4.601i 847.80b,c | 23.15jk 66.46 c
368 [ 421.10f,g -281.40g 4.47 hij 855.10¢ 21,29 h,i 66.83 ¢
369 406.82 e -295.95 f 4.83] 884.80 d 19.32¢g 68.71 ¢
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-l - o
A9 N9 HATBY Duncan's multiple range test INBNTWUA AGV=1 Queue=>5 Entity=80

Rute | Flowtime | Lateness | Numberofjobs ' jobsdone | Tardiness M/C

i oenalbefler utilization
147 519.36c | -18341cd | 391cd 924,40 49.27 c 81.42]
148 537.01e | -185.98e 344c 894.20 h 55.72d | 80.84ij
149 477.39a -224.18 a 7.351m 1005.80 | 36.48 a 84.50 k
157 | 53850e | -164.23e 421de 891.70 h 57.45d 81.111,
158 | 554.931g | -147.961g | 341c 864.601g | 6355e 80.39 |
159 493.53b | -207.99Db 7.361,m 97270k 41.80b 84.66 k
167 | 517.11¢c | -185.16¢c | 4.28def | 928.90] 48.90c 77.71h
168 | 514.30c | -187.98¢c 3.85c¢cd 933.10 46.88 c 76.30 g
169 476.83a | -224.83a 7.85m 1005.80 | 36.60 a 81.57 |
247 | 528.18d | -175.37d 281b 909.60 i 47.22 ¢ 75.33 f
248 548.30 f -153.34 { 208a 875.70 g 55.38d 7527 f
249 49166b | -209.85b 4,93 ghii 976.10 k 36.76 a 76.77 g
257 528.18d | -175.37d 281D 909.60 i 47.22¢ 7533 f
258 548.52f | -153.36f 202a 875.80 g 55.05d 75.16 f
259 490,76 b | -211.04b 4,74 efg 978.40 k 36.32 a 76.72 g
267 528.18d | -175.37d 281b 909.60 i 47.22¢ 75.33f
268 550.26 f -151.60 f 204a 873.20g 56.08d 74.94 f
269 | 492.23b | -209.48b | -4.79fg 974.90k | 3667a | 76.62g
347 | 620.86) | -80.38k) | 5.38hij | 77450ab | 87.50gh | 6957 a
348 624.83 | ~75.97 1 4,97 g.h,i 768.60 a 88.64 h 69.55a
349 575.58 -127.02 i 561k 834:50d 66.16 € 71.96cd
357 609.22 j.k -92.76 5471} 788.40 c 83.31¢ 70.81b
358 613.02k | -88.22jk 490g,h | 783.30b,c | 84.90fg | 71.21bc
359 564.66 h -137.70 h 6.13k 851.00 e 63.48 ¢ 7293 e
367 605.67 | -96.46 | 6.16 k 79270 ¢ 83.99 f,g 69.63 a
368 605.18lj -97.11§ 6.07 k 793.40 ¢ 82.71f 69.61 a
369 |559.63g,h{-14275g.h 6.881 858.10 ef 64.79 e 72.35d.e
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mﬂaﬁ n10 UaY8e Duncan's multiple range test \Hafnuua AGV=2 Queue=1 Entity=40

Rule | Flowtime | Lateness |Numberofjobsing johs done | Tardiness | M/C utilization
central buffer
147 | 240.86¢c,d | -461.16 a 19.17 de 99560ab | 3.13abc | 7870ab,c
148 | 240,78 ¢c,d | -461.18 a 18.46 a,b 99580ab | 3.51bc [79.13ab,c,de
149 235.71a | -466.16a | 20.58fgh | 1018.00¢ | 3.09a,b,c | 7863 a,b,c
157 |240.28 b,c,d| -462.04a | 1892c,de | 998.60ab | 3.31a,b,c |79.45b,c,d.e.f
158 | 241.83¢c,d | -459.92a | 1884bc,d | 992504a,b | 3.25ab,c | 78.87ab,c,d
159 23591a | -465.93a 20,66 g,h 1016.90¢ | 293abec | 7860abc
167 | 24063 c,d | -461.562 19.08de |997.50ab| 3.35abc | 78.69abc
168 | 242.04c,d | -458.90a | 1884 bcd | 991.30ab | 3.57be 78.49 a,b
169 23594 a | -46583a | 20.56fgh 1016.50 ¢ 2.68a 78.57 ab.c
247 1238.99 a,b,c| -462.63 & 19.27 e 1004.00 b.c| 3.22ab,c 79.81 ef
248 | 24257¢c,d | -45911a | 18.80bc,d | 99010ab | 3.54bc 79.82 e.f
249 | 236.71ab | -464.75a | 20.84h | 101450c | 3.15abc | 7821a
257 |238.99ab,c| -462.63a 18.27 e 100400 b.c| 3.22abc 79.81ef
258 243.09d | -458.96a | 18.83bcd | 987.20a 352bc 79.66 d,e,f
258 236.42a | -464.90a 20,84 h 1014.80c | 3.02a,b,c 7832 a
267 ]238.99 a,b,c| -462.63 a 19.27 e 1004.00 b.c| 3.22a,b,c 79.81 e f
268 | 242.01¢,d | -458.95a | 18.84bcd | 991.90a,b 3.66¢c 7991 ef
269 236.19a | -465.70 a 20.83h 1015.90c | 298a,b,c 78.39 a
347 | 241.65¢c,d| -460.08a | 1887 bc.d,e | 993.20ab | 3.34a,bc |79.16a,b,c.d,e
348 | 241.84c,d | -450.89 a 18.28 a 992.90ab | 3.14a,b,c 79.86 e f
349 | 236.63ab | 465.12a 20.25¢ 101430¢c | 293abc | 7874ab,cd
357 | 241.27c,d | -460.52a | 1881cde | 99500ab | 3.3%9abc | 7951 cd,ef
358 | 241.74c,d | -460.05a | 1851abec | 99270ab | 3.24 a,bc 80.13f
359 | 236.94ab | -464.49 a 20.32 g 1013.40c | 2.86ab | 78.79a,b,c.d
367 | 241.61¢cd | -460.15a | 1888cde | 993.30ab | 3.36ab,c | 7860abc
368 | 242.76c,d | -458.86a | 18.552a,b,c | 989.00a,b { 3.20a,b,c 78.69abc
369 | 236.92a,b | 464.55a 20.331f,g 1013.60 ¢ 284ab 7841 a




122

. d . )
m'r‘:’N'?'i n11 #a98y Duncan's multiple range test WNaNIWUA AGV=2 Queue=1 Entity=60

Rule | Flowtime | Lateness | Numberofjobsin | Johs done | Tardiness M/C
central buffer utilization
147 | 341 .S'i bec | -360.75b 30.22b,c 1054.30ab | 13.75ab 87.15e,f
148 346.32d |-35647b 28.86 a 103570a [1525abc! 86.80d,ef
149 330.87a |-37047a 36.53¢g 1088.40 ¢ 13.689ab 8534 ab
167 |342.15b,c,d{ -360.03b | 30.44 bc,de | 1051.70ab | 13.895ab 87.32 f
158 | 34552¢c,d |-356.93b 29.11a 1047402 |15.04abc! B87.12ef
159 | 331.16a |-370.17a| 3677gh | 1087.50c | 13.55ab | 85.20ab
167 |342.14 b,c,d|-359.91b 2098 b 1052.00ab | 13.70ab | 86.36 c,d.e
168 346,64d |-355.80b 28.47 a 103880 a 14083b | 85.80ab,.c
169 331.25a |-370.14a 36.57 g 1088.00 ¢ 13.64 ab 85.10ab
247 340.23b | -361.78Db 3202f 105€.20b | 1497 &b 90.06 h
248 (34392b,c,d|-35821b| 31.12cde | 104650ab | 1548bc 91,381
2439 331.40a |-368.99a 37.721 108530 ¢ | 14.842b,c 84.99 a
257 340.23 b, | -361.78b 3292f 1085.20b |14.97 2b,c 90.06 h
258 |343.70 b,c,d| -358.74 b | 30.68 b,c,de | 1046.20ab [1524ebc| 91801
259 | 331.19a |-369.93a| 37.74i 1086.70¢c | 14.96eb,c| 85.14ab
267 340,23b [-361.78b 32.92f 10520 | 1497 eb.c 90.06 h
268 3_43.66 becd{-358.61b|30.82bcde | 1046.70ab 16.43¢ 91.361
269 330.05a |-370.83a 37.54 h,i 1092.30¢ }15.13zb,c| 8535ab
347 | 341.64b,c | -360.79b| 31.37e {1053.2)ab |14.19abc| 89.05g
348 |344.20b,c,d| -357.86b| 30.13bc | 1046:0ab |14.97epc| 89.92h
349 | 332.02a |-369.56a| 36.60g 1085:80¢ | 13.34ab | 85.69abc
357 | 340.21b |-361.83b| 31.25de | 105£.70b | 14.01ab | 89.46gh
358 (344.27 b,c,d|-357.97b | 3035bec,d | 1046.50a,b | 1559b,c 90.22 h
359 331.80a |-369.56a 36.56 ¢ 108540 ¢ 13.81ab | 85.97 b,cd
367 |343.72Db.c,d|-358.36 b | 30.91b,c,de | 1047.60ab | 15.09abc| 87.26ef
368 | 345.37¢cd |-357.11b | 30.26bcd | 104250a [15.09abc| 87.46f
369 | 33150a {-370.08a{ 36.18¢g 1086.50¢c | 13.02a | 85.38a,b
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al o o
M990 N12 NR1DY Duncan's multipte range test INBNTUUA AGV=2 Queue=1 Entity=80

Rule | Flow time Lateness |Numberofjods| Jobs done | Tardiness M/C

i cenuel e | utilization
147 |447.30 b,c,d(-254.43b,c,d| 37.82d,e |107270bcdef 3542ab | 9055¢ef
148 | 453.46d,e,f | -248.60d.efg) 33.83ab (105850 ab,c| 36.13ab,c |90.24 def
148 { 42593 a -274.71 a 52.73 h 112670 f [3742abcedetf(8918a.c.c.d
157 |447.42bec,d|-254,22bc,d| 37.87de [107220bcdel 35223 90.831,g
158 | 455.38f -246.88§,g | 3530b,c | 1054.70ab |38523bcdefg 89.84c.cef
159 | 426.61a ~274.13 a 52.89h 1125.00f |3767abedelsg|8s21ak.2d
167 |448.82b,c.d.e|-25253bcdef| 3668 c,d |1089.30ab.cde| 36.27 a,b,c,d [ 89412220
168 455,76 f -246.48 g 32992 1052.80 a 35.56 a,b 88.43 2
169 | 427.09a -274.06 a 52.18 h 1124,.00f |3637abcde| 886220
247 | 443.00b -258.72 b 44,08 g 1084.10e |40.51cdetfg| 9596 «
248 |448.62bcde|{-25316bcde 3966e [('06950abedel 4158fg 97.24
249 | 42621 a -274.26 a 55.62 i 1126.40 f 4160fg 8890z
257 | 443.00b -258.72 1 44,08 g 1084.10e¢ | 40.51cdefg | 9596 <
258 |448.20b,cde|-253.45bcdef 3957 |[1071.10abcde| 40.88defg | 97.56
259 | 425.85a -275.05 a 55.28i 1126.00f | 40.41cdefg 8925852
267 | 443.00b -258.72 b 44.08 g 1084.10e | 40.57cdefg | §596 <«
268 | 449.98cdef|-251.97cdelg| 3921 |1067.20abcdel 40.52¢cdefg | 96.85 k.:
269 | 427.08a -27373a 55421 1124.00f (4000bcdeflg|88.962a,2.c
347 144697 b,c,d|-254.72 bed} 4230fg [1073.90¢c,d,e|3905abedels) 9387
348 | 452.03 d,e,f | -249.69 d.e/ig 39.13e |1061.20abc.d| 40.91 defg 94.85
349 | 42662a -274.20 a 54.05 h,i 1124,80f |3B40abecely|8271bc.Ce
357 | 44537 bc | -256.561b,c | 42.72fg | 1079.30de | 41.01efi,g | 93951
358 | 453.26 d,e,f | -249.09defg| 39.47e [1058.60a,b,c|39890cdelg| 94,89
359 42740 a -273.60 a 54,20 h,i 1123.40f |37.26a,b,cde.f|89.64b.c.cs
367 |448.03b,cde|-25345bc,de| 41.84f |1071.20ab.cde)39.89becdefg| 92.00hn
368 | 454.19ef |-24784efg| 33%48e |1056.10abc!| 42.18¢g 91.78 g,h
369 | 42634 a -274.53 a 53.52 h,i 112510 f 3569ab (8892an.c
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m‘a"laﬁ n13 1a189 Duncan's multiple range test Wan vum AGV=2 Queue=3 Entity=40

Rule

Flow time

Lateness

Number of jobs in

central buffer

Jobs done

Tardiness

M/C utilization

147

233.3%ab,cd

-469.06 a

11.74 d.efgh

1028.90 a,b,c,d

2.46a

7821 bc,defg

148

23291 a,b,c,d

-469.45 a

11.49 c,def

103040ab,cd

2.62 a

78.36 cde.fg

149

23161ab

-470.67 a

12.02g,h,

1036.30d

249 a

78.81¢g

157

23297 a,b,cd

-469.24 a

11.79 f,g,hi

1030.00 a,b,c.d

248 a

78.32c,defg

158

233.12a,b,c.d

-469.05 a

11.67 ¢c,defg

1030.20 a,b,c,d

250a

78.27 c,d.efg

169

231.76a,b

-470.53 a

12.17 h,|

1035.50 d

2.22a

787319

167

232.88a,b,c,d

-469,31 a

11.80 f,g,h,i

1030.80 a,b,c,d

2.48 a

78.37 cdefg

168

232 76ab,cd

-469.45 a

11.48 c,d.ef

1031.20 a,b,c,d

2.19a

7843 defg

169

23194 a,b,c

-470.49 a

12.221

1034.20 b,c,d

2.35a

78.66efg

247

233,22a,becd

-468.96 a

11.76 efighi

1029.10 a,b,c.d

277a

73.22 bcdefg

248

234.01 a,b,c,d

-468.53 a

11.43 ¢, d,ef

1024.70 a,b,c.,d

2.52 a

77.91 ab,c,d

249

231.97 a,b,c

-470.27 a

12.10 g,h,i

1034.90¢c,d

250 a

78.66 e,f,g

257

233.22ab,cd

-468.96 a

11.76 e.f,g.hii

1029.10a,b,c,d

277a

78.22 b.cdefg

258

233.79a,bc,d

-468,35 a

11.36 c,d.e,f

1025.90a,b,c,d

236a

78.00 a,b,c,d.e

259

232.49a,b,cd

-469.79 a

12.11 g,hii

1032.20 a,b,c,d

250a

78.46 d,e.f.0

267

233.22 ab,cd

-468.96 a

11.76 efghii

1029.10a,b,c,d

277 a

78.22b.c.defg

268

234.04ab,cd

-468.42 a

11.42cdef

102520 a,b,c,d

250 a

77.95ab,c,d

269

231.51 a

-470.91 a

12.08 g,h,i

1036.30 d

241 a

78.82¢

347

230.51d

-466.57 a

10.84 a

107850 a

2.41a

77.45 a

348

235.61d

-466.54 a

10.86 a,b

1018.50 a

2.61a

77.42 a

349

234,15 a,b,cd

-468.25 a

11.45¢,def

1024.00 a,b,c.d

245a

77.92abecd

357

23510b,cd

-466.98 a

11.29bc,de

1020.30a,b,c

2.66 a

77.58a,b

358

235.41¢,d

-466,81 a

11.27 a,b,c,d

1018.30a,b

2.62a

77.46 a

359

23413 a,b,c,d

-468.05 a

11.72d.ef.g.h

1023.93 a,b,c.d

2.71a

77.86 a,b,cd

367

234,60 a,b,c,d

-467.56 a

11.35¢c,d.ef

1021.80 a,b,c,d

255a

77.72ab,c

368

23400abcd

-468.39 a

11.24ab,c

102450 a,b,c.d

2.40 a

77.85abcd

369

233.72 a,b,c.d

-468.76 a

11.79 f,g,h,i

1026.30 a,b,c.d

234 a

78.06 ab,c,def
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mﬂqﬁ n14 ua183 Duncan's multiple range test iHaAuun AGV=2 Queue=3 Entity=60

Rule | Flow time Lateness |Numberofjobs|  Jobs done  |Tardiness M/C
n ceniral bufer utilization
147 | 326.55a,b,c |-374.44abc| 23.54fg | 110250¢c.de | 10.94b | 84.11ef.g
148 [327.77 a,b,cd|[-373.36 a,b,ct 2293ef |109850bcdel 11.12b | 84.01efg
149 32414 a -376.84 a 25.65h 1111.20e 1070 b 84.38 g
157 | 326,87 ab,.c (-374.23a,b,c] 236119 | 110240c,de | 11.06b | 84191 g
158 |327.98a,b,cd -373.10 a,b,c|23.39ef,g[1097.90b,cde| 11.29b | 84.02e,(f,g
159 32391 a -377.24 a 25.67 h 111230 e 11.11b 84,47 g
167 | 327.24 ab,c (-373.74ab,c| 23.63fg |1100.00b,cde| 11.08b | 84.23fg
168 |328.34 a,b,c,d{-372.83 ab,c| 23.23e,(f [1096.90 b c,d,e| 10.97b | 84.12efg
169 323.58 a -377.20 a 25.83 h 1112.50 e 10.89b 84.54 g
247 132792 ab,c,d|-373.22ab,c| 2293ef 11097980bc,de| 11.43b | 83.38c.de
248 |329.93c,def|-871.12abc| 21.24ab | 1091.60ab,c | 11.09b 8293 ab,cd
249 324.54 a,b -37643ab | 25.31h 1109.80 d,e 1042b | 84.17fg
257 |327.92ab,c,d|-37322ab,c| 2293ef [1097.90b,cde| 11.43b | 83.38¢c,de
258 | 330.18c,def |-371.04ab.c| 21.19ab | 1090.40a,b,c | 11.00b |82.88 a.b,c,d
259 32361 a -377.49 a 25.13 h 1112.50e 10.82 b 84.42 g
267 |327.92a,b,c,df-373.22abct 2293 ef (1097.90b.c,de( 11.43b [ 83.38cde
268 | 330.00c,def(-370.96abcl 21.28ab | 1090.80ab,c | 11175 | 83.00b,c.d
269 323994 -376.87 a 2516 h 1M11.40e 10,39 b | 84.291g
347 334,49 f -367.48 ¢ 2076 a 1076.10 a 11.47b | 8242ab
348 334.15f -367.57 ¢ 2091 a 1077.50 a 11.21b | 82.50ab
349 1329.24b,c,de|-371.87 abc| 2262d,e [1093.104a,bed| 1041 b | 83.25c,d
357 333.65¢ef -368.05¢ 21.19ab 1079.40 a 1093b ( 82.38ab
358 33373 ef -367.76 ¢ 21868bc 107880 a 11.04 b 82.24 a
359 | 327.50a,b,c |1-373.79ab,c| 23.20e,f [1099.20b,c,de| 9.53a | B3.59d,ef
367 | 33262def | -369.07bc | 21.92b¢ 1083.00a,b 10.80b | 82.66 a,b,c
368 | 332.55de,i | -369.23b,c | 2213 ¢cd 1084.20 a,b 11.23b | 8267 abc
369 | 327.55ab,c 1-373.55a,b,c; 24.09¢g 11100.20b,c,d,e| 10.69b | 83.58 d.e.f
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mﬂﬁ n15 ua1ad Duncan’s multiple range test Han s AGV=2 Queue=3 Entity=80

Rule | Flow time Lateness | Numberofjobsinl  yobs done (Tardiness M/C
centat puler utilization
147 | 424.89 b,c -275.77 ¢ 34,160, 1129.90 f,g,h [29.54 a.b| 87.93 g,h,i,j
148 1429.99 o.d.ed| 27092 ode | 32.56 efgh |1116.70c.delg| 31.40b |87.56 g
149 | 41743 a -283.48 a 40.011 1150.401 29.99a,b| 87.75g,hiij
157 | 426,14 b,c -274.60 c 33.96 g,hi 1125.40f,g [29.63ab| 88.24i;
158 |430.18 c,d,ef|{ -270.62 c.d.e,f [31.83 ¢c,d,e,f,g[1115.10 bcdet| 31,36 b 88.39 |
158 | 417.33 a -283.09 a 40.34 | 1150.10 i 29.15ab | 87.80 g.h,i
167 | 425.89 b,c -274.82¢c 33.14 f,g,h 1126.60f,g |30.53a,b| 88.10h,i
168 |429.47 bc.de) -271.30¢c,de | 32.00d,e,f.g | 1118.00 d,e,f,g|30.58 a,b |87.48 e f.g,h.i
169 | 417.65a -282.88 a 40.16 | 1150401 30.194a,b| 87.94 g,h,ij
247 142825 b,c,d| -27269c,d |31.84¢cdefc| 112080efg [30.25ab| 858.47ab,c
248 | 435.35e,f,g | -265.69 e.i.g 2863 a 1103.00 ab,c.de(29.74 ab| 8643 a,b,c
249 | 417.59 a -282.84 a 38.941 1149.50 i 29.38 a,b| 8730 c.defan
257 (428.25b,c,d| -27269cd [31.84cdefg| 112080 ef,g |30.25ab| 86.47 ab,c
258 | 43553fg | -265.52¢e,f9 28.15a 1102.50 a,b,c,d| 30.12 a,b [ €€.81 a.bcde
259 | 41748 a -283.06 a 39.001 1150.80 i 29.63 a,b|87~Caelghi
267 (42825 b,c,d| -272.69c,d [31.84cdefg|l 1120.80e,fg [30.25a,b| 86.47 ab,c
268 |434.19defg|-26667 defg| 29.12ab |110550abc.de|30.83ab}86.55abed
269 | 435891, -282.12ab 39.221 1146,90 h,i [30.07 a,b 8779 b.cdelg
347 | 418.57 a -262.87 g 29.67 a,b.c 1095.70a ~ [30.07ab| 86.19a
348 | 438.20¢g -263.00¢g 30.06 a,b,c,d 1095.50a |30.82ab| £6.23ab
345 | 43827 g -276.16 b,c 35231,k 1130.70 f,g,h |28.28 a,b |86.58ab.c.e
357 | 424.38bc | 26497 efg 130,14 ab,.c.c 110020 ab,cdi29.47 ab| 8636ab
358 | 436.27 g -263.37 g 29.85ab,c.c| 1097.50ab |30.61ab] 86.45ab,.c
359 | 437.71g -276.20 b,¢c 35.98 )k 1132.40f,g,nh |28.75a,b|8.c0abcde
367 | 424.20b,c -264.38 1,9 |30.79b,c.de| 1099.30 a,b,c {30.49ab| 8580a
368 436.70 g -265.20ef,0 [31.19b,c,d,e,f1101.002,b,c,d|30.33a,b| 86.02a
369 | 4232420 | -277.18abc | 3646k | 1133.70ghi | 27.53a |8670abcdel
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mi'Nﬁ n16 Na¥as Duncan's multiple range test Wenauum AGV=2 Queue=5 Entity=40

Rule | Flowtime | Lateness |HNumberofjobs| Jobs done |Tardiness| M/C utilization
in centrai buffer
147 | 231.88a | -470323 | 6.94abc | 103200a | 229a | 7870abcde
148 | 232.16 a -470,13a | 6.80ab,c | 103t.50a 2.09a 78.56 a,b,c,d.e
149 | 230.71a | -471.74a | 6.94ab,c | 1040.10a | 2.14a 79.08 ¢
167 | 281.76a -470.56a [ 699abec | 103230a |} 232a 7871bcde
158 | 231.83a | -470.32a | 6.68abc [ 1032.00a | 2.02a | 78.67abcde
159 | 231.12a | -471.43a [ 6.92abc | 103610a | 224a 7894 de
167 | 232.12a | -470.18a | 6.79abec | 103570a | 2.23a | 7856ab,cde
168 | 231.63a | -470.75a | 6.79abc | 103€10a | 2.22a 78.76 b,c,d,e
169 | 231.64a | -470.65a 7.06bc | 1032.80a | 2.17a 78.75b,c.d.e
247 | 232.87 a -469.36a | 6.90a3b,c | 103C.20a | 255a 7834 ab,c,d
248 | 232.58a | -469.60a | 6.76abc | 1037.90a | 237a 78.42 a,b,c,d
249 | 230.73a | -471.65a | 6.87abc | 104C.30a | 223a 79.09¢
257 | 23287 a | -469.36a | 680zbec [ 1032.30a 255a 7834 ab,cd
258 | 23213a | -470.21a | 6884abec | 103z.20a | 22%a | 7856abcde
259 | 231.40a | -470.88a 741¢c 103c.20a ) 237a 78.82b.c,de
267 | 232.87a | -468.36a | 6.80ab,c | 103C30a | 255a 7834 ab.c,d
268 | 23213a | -470.21a | 6.84abc | 103220a | 222a | 7855 abc.de
269 | 231.33a | -471.19a 7.10¢c 1037.30a | 2.32a 7888 c.d.e
347 | 233.05a | -469.02a | 6.64abc | 103C0a | 242a 78.26abec
348 | 23370a | -468.94 a 6.60ab | 102630a | 234¢ 78.07 a
349 | 23202a | -470.28a | 8.70abc [ 103--0a | 212a 7862a,b.cde
357 | 231952 | -470.28a £.56 a 103<20a | 232a | 7861abcde
358 | 233.27a | -469.01a | 6.73abyc | 1026.30a | 240a 78.21a,b
359 | 232.30a | -469.96a | 6.86abc | 1033.70a | 223a | 7852ab,cde
367 | 232.32a | -46994a | 6.71abc | 1032J0a | 231a | 7848ab.c.de
368 | 232.25a | -470.04a 6.60ab | 1033.10a | 230a | 78.53a,b,c,de
360 | 231.30a | -471.18a | 6.85eb,c | 1038C0a | 230a | 788%cde
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m‘nqﬁ N17 U818 Duncan's multiple range test \2ATMUA AGV=2 Queue=5 Entity=60

Rule |Flow time | Lateness | Wumbercfjobsin | jc-s done {Tardiness| M/C utilization
central bulter
147 | 323.25a | -377.77a | 17.09defg | 1°°460a { 10.07a | 84.53b,c,de
148 | 324.53a | -376.52a | 17.21defgh | 1723.70a | 10.10a | 84.15ab,c.d.e
149 | 322.40a | -378.37 a 18.28 ] 17°7.00a | 9.50a 84.72c,de
157 | 323.64a|-377.29a [ 1748¢efgh,,j| 17°3.50a | 10.06a | 8439ab,c.de
158 | 323.21a | -377.66a | 17.42¢fghi | 17°3.90a | 10.39a | 84.51b,cde
159 | 321.79a | -379.18 a 18.16 1,] 11°9.10a | 9.98a 84.87 e
167 | 32351a|-377.38a | 17.51fgh,ij | 17°3.30a | 10.04a | 84.43b.c.de
168 | 323.76a | -377.15a | 17.20d,ef,gh | 11°230a | 10.25a | 84.38ab,c.d.e
169 | 322.52a | -378.33a 18.33 ) 17°580a | 10.20a 84.69c,d.e
247 | 323.52a | -377.32a | 17.15defgh | 1°°320a | 9.87a | 84.41abcde
248 | 324.04a | -376.87a | 16.68pb,cdef | 17°7.00a | 10.29a | 84.22 ab,c,d,e
249 |323.27a|-377.79a | 17.94g.h,i 17°3.50a | 1044a | 84.47bc,de
257 | 323.52a|-377.32a | 17.15defg.b | 1°°220a | 9.87a | 8441ab,cde
258 | 32412a | -37647a | 16.57bcde | 17°280a | 10.35a | 84.22ab.c,de
259 | 322.20a ] -378.70 a 18.01 h,i,j 19°53.70a | 9.69a 84.80ce
267 | 323.52a | -377.32a | 17.15defg.hn | 173204 9.87 a 84.41a,b,c,de
268 | 32477a|-3756.95a | 1656becde | 172260a | 9.98a | 84.06ab,c.de
269 | 323.21a | -377.86a 18.16 1,] 17°390a | 9.79a 84.51 bcde
347 | 326.94a | -374.07 a 15.63 a 1122.70a | 1013 a 83.61a,b
348 | 326.76 a | -374.32 a 15.85a,b 112210a | 10.18a 83.63a,b
349 [324.63a | -376.30a | 16.70b,cde,i | 17.250a | 998a | 84.11ab,.c,de
357 | 326.79a | -374.32a | 16.15ab.c 11.240a | 10.34a 83.62 a0
358 |327.22a | -3739Ca | 16.33abcd | 1927.00a | 10.14a 83.48 a
359 | 324.46a | -376.27 a | 16.88¢c,d,ef 1123.60a | 9.62a 84,12 a,b,c,d.e
367 | 325.44a | -375.29a | 16.63 b.c.d.e.f 11¢3.40a | 10.29a | 83.87abcd
368 |325.90a | -375.10a | 16.64 b,c.d,e.f | 11C3.30a | 10.10a 83.81a,b.c
369 |323.60a|-377.06a| 16.98cdef | 111250a | 9.78a | 84.39ab,c,d.e
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m19197 118 HA18 Duncan's multiple range test WanIMuA AGV=2 Queue=5 Entity=80

Rule | Flow time Lateness | Numberofjobs | Jobs done  |Tardiness)  M/C

in ceniral bufer utilization
147 |417.24 ap,c,d|-283.13 a,b,c,d| 30.06 h,i,jk |[1150.40 b,c,d,e,f| 29.34 a|87.32 ef.g.hii]
148 | 416.71 a,b,c | -283.81a,b,c |28.88¢e,fg,h| 1152.50d.ef [28.90a]87.50f,g,h.ij
149 41433 a -286.35ab 3177k 116990 e,f [27.63a| 87.94i
157 | 416.99a,b,c | -283.50a,b,c | 29.73 g,h,i,j | 1152.00c,d,e,f |28.07 a|87.44f,a,hii,j|"
158 |418.89 ab.c.d| -282.06 ab.cd | 29,67 g,h,i] | 1146.80 ab.c.d.ef| 30.66 a [87.09 defahil
159 413.65a -287.12 a 32.04 k 1161.00 f 27.88 a 88.01]
167 | 417.12abc | -283.75a,b,c | 29.16fg,hi| 115160 c,d.ef |28.61a|87.62fg,h.]
168 | 417.01ab,c | -283.67 a,b,c {28.98 ¢,f,gh| 115250d.ef |[28.26a|87.59fg.h.i}
169 414,31 a -286.47 ab 32.00k 1159.60e,f |2841a| 87.93i,
247 |417.80 ap,c,d| -282.58 ab.c.d [28.61d.ef,gh|1149.10 a,b,c,d,e f[28.97 a [B7.13 defghiij
248 | 421.89b,c,d | -27842¢,d |2687abcde| 1136.70a,b,c,d [28.52a| 86.123a,b,c
249 | 414.82ab -285.88a,b 31.381.).K 1156.90e,f |28.66a| 87.78h,i,j
257 1417.80 a,b,c,d| -282.58 a.b,c,d {2861 d,efigh|1149.10 a,b.c,de.f[ 28,97 a|87.13 defgh.i]
258 1420.48 a,b,c,d| -280.06 b,c,d [267Cabgcde| 1140.80abcde |27.82 a|86.48ab.cde
259 | 414.70ab -286.28 a,b 31.35i,),k 1158.90ef 2763 a| 87.83h,i,
267 |417.80 a.0,0,0| -282.58 a,b,c,d [28.61 d.efigh| 1149.10 abc.def|28.97 a |87.13 defani
268 {420.83 a,b,c,d| -279.71 b,c,d [ 26.46ab,c.d| 1140.30abcd.e | 28.88 a{86.40 a,b,c,d
269 | 415.08ab -285.57 a,b 31391,k 115730ef [28.17 a| 87.75g,h,i
347 424,48 d -276.32d 2547 a 1130.20 a 2790a 85.81a
348 | 423.77 c,d -276.46 d 26.15ab [ 1133.50a,b,c,d |29.78a| 8591ab
349 |419.58 a,b,c,d| -281.17 a.b.c.d |2845¢cdefah | 1144.00ab.cdef|27.42 a|86.74 bec.de,f
357 | 423.71cd -27685¢c,d [26.32ab.c| 113200ab,c [28.12a| 8588ab
358 424.49d -276.17d |2730abededl  113120ab |28.95a 85.79 a
359 418.92 a,b.c,d| -281.65a.b.cd | 29,18 f,g,h,i | 1146.20ab,c.def} 27.92 a | 86.87 c.defg
367 | 42361cd | -277.19cd [(7678bcdela) 113350 a,b,c,d [28.75a 8598ab
368 | 422.61cd -277.98c,d [803bcesfanl 1134,40 a,b,c,d |28.64 a| 86.053a,b,c
369 (418.43 a,b,c,d| -281.99ab.cd | 29.77 g,h,ij | 1147.10 abc.dief [ 27.51 a [87.00 diefig.h
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\@% 1 uNAeiie ng First Serve Next Station (FSNS)

W2 2 wunadie ng Maximum Outgoing Queue Size (MOQS)

AT 3 MuIE i nJ) Serve Same Destination (SSD)

AT 4 uuAeiy nJ) First Come First Serve (FCFS)

(@9 5 MDA nJ) Maximum Outgoing Queue Size (MOQS)

(@9 6w nJ) Shortest Distance (SD) |

187 7 vanaie nJ) First In First Out {FIFO)

\a% 8 w1l nJ) Minimum Operation Remaining (MOR)

1@ 9 wnei ng Nearest Destination (ND)
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d [ a [ 1 | L] .
M990 91 AansdRdIAungsie Weimunt¥ AGV =1 Queue =1 Entity = 40

ar

ns¥rdnduresfatindssAnininassszuudinumne
Rule Flow time | Latengss M/C Number of }Jobs dene | Tardiness | Average
utilization | jobs in central
buffer
147 14 14 21 9 13 9 13.33
148 21 20 25 3 21 16 17.67
149 5 5 17 20 5 5 9.50
157 13 13 22 8 14 14 14.00
158 20 22 24 1 20 18 17.50
159 4 4 16 21 4 6 9.17
167 18 18 26 6 18 13 16.50
168 23 23 27 2 23 17 19.17
169 6 6. I 23 19 6 4 10.67
247 10 0 | 3 15 10 10 9.67
248 15 r VB 7 15 15 11,50
249 2 2 1| -8 25 1 2 6.67
257 10 0 |3 15 10 10 9.67
258 17 17 1 4 17 21 12.83
259 1 1 7 26 2 3 6.67
267 10 1o | 3 15 10 10 9.67
268 16 16 6 5 16 20 13.17
269 3 3 9 27 3 1 7.67
347 19 19 15 14 19 23 18.17
348 24 24 11 11 24 24 19.67
349 8 8 14 23 7 7 11.17
357 22 21 13 13 22 22 18.83
358 26 25 10 10 25 25 2017
359 7 7 12 24 8 8 11.00
367 25 26 19 18 26 26 23.33
368 27 27 18 12 27 27 23.00
, 369 9 9 20 22 9 19 14,67
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M990 12 rANIARSIALNGA darivua W AGY =1 Queue =1 Entity = 60

o w ' - - LA - i
arduraangdnepiafasandritadssAninmenssuuusiaz iy

Rule Flowtime | Lateness M/C  |Numberof jobsin| Jobs done | Tardiness | Average
utilization central buffer
147 13 13 21 8 13 12 13.33
148 19 19 24 2 19 18 16.83
148 6 6 19 20 6 4 10.17
157 13 13 21 8 13 12 13.33
158 19 19 24 2 19 18 16.83
159 6 6 19 20 8 4 1017
167 18 18 26 6 18 14 16.67
168 21 21 27 1 21 20 18.50
169 8 8 23 19 8 6 12.00
247 10 10 1 10 10 9 8.33
248 15 15 1 4 15 15 10.83
249 1 1 6 22 1 1 5.33
257 10 10 1 10 10 9 8.33
258 15 15 1 4 15 15 10.83
259 1 1 8 22 1 1 533
267 10 10 1 10 10 9 8.33
268 17 17 8 7 17 17 13.683
269 3 3 9 25 1 3 7.33
347 22 22 14 16 22 22 19.67
348 25 25 10 13 25 24 20.33
349 4 4 13 26 4 8 9.83
357 22 22 14 16 22 22 19.67
358 25 25 10 13 25 24 20.33
359 5 5 12 27 4 7 10,00
367 24 24 16 18 24 26 22.00
368 27 27 17 15 27 27 23.33
369 9 9 18 24 9 21 15.00
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A19AR B3 HANIAAANFUNG YT WadmumlF AGY = 1 Queue =1 Entity = 80

aduzesng e plisiansundsiiimlssAninmssszunusiazdu

Rule Flow time | Lateness M/C  |Number ofjobs in| Jobss done | Tardiness | Average
utilization | ©entral buffer
147 13 13 21 8 13 12 13.33
148 19 19 24 2 19 18 16.83
149 6 6 19 20 6 4 1017
157 13 13 21 8 13 12 13.33
158 19 18 24 2 19 18 16.83
159 6 <] 19 20 6 4 10.17
167 18 18 26 6 18 17 1747
168 21 21 27 i 21 20 18.50
169 8 8 23 17 8 6 11.67
247 10 10 1 10 10 9 8.33
248 15 15 1 4 i5 14 10.67
249 1 2 1 23 2 1 5.00
257 10 10 1 10 10 9 8.33
258 15 16 g 4 15 14 10.83
259 1 2 1 23 2 1 5.00
267 10 10 1 10 10 9 8.33
268 17 17 8 7 17 16 13.67
269 3 1 9 22 1 3 6.50
347 22 22 14 18 22 22 20.00
348 25 25 10 13 25 24 20,33
349 4 4 12 25 4 7 9.33
357 22 22 14 18 22 22 20.00
358 25 25 10 13 25 24 20.33
359 4 4 12 25 4 7 9.33
367 24 24 17 16 24 27 22.00
368 27 27 16 15 27 26 23.00
369 9 9 18 27 9 21 15.50
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o« 9 o i 4 o '
AT 14 HANNFIARTALING AN Watusl AGY = 1 Queue =3 Entity = 40

andureangpinfiaRasundelinls ingnwaesszunusiasinu

Rule Flow time | Lateness M/C  |Numberofjobs =} Jobs done | Tardiness | Average
utilization | Ccenval buffer
147 7 7 8 17 7 7 8.83
148 10 10 9 10 10 10 0.83
149 3 3 3 25 3 1 6.33
157 8 8 4 15 8 9 8.67
158 12 12 3 11 12 15 11.33
159 1 1 2 27 1 3 5.83
167 9 9 5 19 9 8 9.83
168 11 11 7 14 11 11 10.83
169 2 2 1 26 1 2 567
247 13 13 13 4 13 12 11,33
248 19 19 21 3 18 17 16.17
249 6 8 12 23 6 5 9.67
257 13 13 13 4 13 12 11.33
258 17 17 19 1 17 18 14.83
259 4 4 10 22 4 4 8.00
267 13 13 13 4 13 12 11.33
268 18 18 20 2 18 16 15.33
269 5 5 11 24 5 6 9.33
347 27 27 25 7 27 24 22,83
348 26 26 24 8 26 22 22.00
349 21 21 17 12 21 19 18.50
357 24 24 27 13 24 26 23.00
358 25 25 26 9 25 27 22.83
359 20 20 18 18 20 21 19.50
367 22 22 22 16 22 25 21.50
368 23 23 23 20 23 23 22.50
369 16 16 16 21 16 20 17.50
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me1aRl 15 uamsdadndiungsina dadmunli AGY =1 Queve =3 Entity = 60

2 »~ ] r- [} - ]
AdursengeineileRasundaiiinsedngnmessssuuwtasdu

Rule Flowtime | Lateness M/C  [Number of jobs in| Jobs done | Tardiness | Average
utilization | C8nVal buffer
147 S ) 13 1Al 8 9 10.00
148 11 11 16 4 1 15 11.33
149 2 2 5 25 2 5 6.83
157 10 10 12 12 10 14 11.33
158 17. 17 14 3 17 13 14.67
159 3 3 1 27 3 6 717
167 7 7 24 s 7 7 9.83
168 8 8 27 6 8 8 10.83
169 1 1 18 26 1 1 8.00
247 13 13 6 8 13 10 10.50
248 21 21 4 1 21 21 14.83
249 & 6 16 22 6 4 8.G0
257 13 13 & 8 13 10 10.50
258 20 20 3 & 20 20 14.33
259 5 5 11 20 5 3 8.7
267 13 13 6 8, 13 10 10.50
268 19 18 2 2 19 19 13.33
269 4 4 9 23 4 2 7.67
347 24 24 22 15 24 22 21.83
348 27 27 21 13 27 27 23.67
349 18 18 20 19 18 16 18.17
357 23 23 19 16 23 23 21.17
358 26 26 15 14 26 25 22.00
358 12 12 17 21 12 13 14.50
367 22 22 26 18 22 24 22.33
368 25 25 25 17 25 26 23.83
369 16 16 23 24 16 17 18.67
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A19799 6 wansdndFungsine WaiwualW AGY =1 Queue =3 Entity = 80

o

Arduraanganilefansundaiiimlssdninmaedszuuusiasdn

Rule Flow time | Lateness M/C  |Numberofjobsin| Jobs done | Tardiness | Average
utilization | Central buffer
147 10 10 21 5 10 10 11.00
148 14 14 23 1 14 13 1317
149 2 2 17 20 2 2 7.50
157 10 10 21 5 10 10 11.00
158 14 14 24 1 14 13 13.33
159 3 3 18 21 3 3 8.50
167 7 7 26 9 7 7 8.50
168 8 8 27 4 8 8 10.50
169 1 1 25 19 1 1 8.00
247 16 16 4 7 16 16 12.50
248 19 19 2 10 19 20 14,83
249 6 6 7 25 8 6 9.33
257 16 16 4 10 16 16 13,00
258 24 21 1 8 21 21 15,50
259 5 & 8 26 5 5 9.00
267 16 16 4 10 16 16 13.00
268 20 20 3 9 20 19 16.17
269 4 4 9 27 4 4 8.67
347 23 23 15 16 23 23 20.50
. 348 27 27 11 14 27 25 21.83
349 13 12 13 23 12 12 14.17
357 22 22 14 17 22 22 19.83
. 358 26 26 10 13 26 24 20.83
359 9 9 12 24 9 9 12.00
367 24 24 20 18 24 26 22.67
368 25 25 18 15 25 27 2217
369 12 13 19 22 13 15 15.67
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91N 47 wansdadrdungsne dadwmuallf AGV =1 Queue =5 Entity = 40

mﬁménm"uwmﬁ'nﬂﬁ'mﬂszﬁﬂ'ﬁnﬂwwqezuuﬁﬂuﬁﬂqq

Rule Flow time | Lateness M/C  |Numberof jobs in| Jobs done | Tardiness | Average
utilization | Ccentralbulfer
147 9 9 9 19 9 10 10.83
148 12 12 12 15 12 15 13.00
149 3 3 3 25 3 2 .50
157 7 7 7 21 7 9 9.67
158 11 11 11 16 11 7 11.17
159 1 1 1 27 1 4 5.83
167 8 8 4 20 8 8 9.33
168 10 10 10 18 10 14 12.00
169 2 2 2 26 2 1 5.83
247 13 13 13 7 13 1 11.67
248 21 21 21 1 21 16 16.83
249 S 5 6 22 5 5 8.00
257 13 13 3 G 13 11 11.67
258 19 19 19 2 18 19 1617
259 4 4 5 23 4 3 7.7
267 13 13 13 7 13 11 11.67
268 20 20 20 3 20 20 17.17
269 6 6 8 24 6 6 8.33
347 27 27 27 4 27 26 23.00
348 25 26 24 5 26 24 21.83
349 23 23 23 6 23 22 20.00
357 25 25 25 10 24 27 22.67
358 24 24 26 11 25 25 22.50
359 22 22 22 12 22 23 20.50
367 18 18 18 13 18 21 17.67
368 17 17 17 14 17 18 16.67
369 16 16 16 17 16 17 16.33
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Rule Flow time | Lateness M/C  |Number ol jobsin| Jobs done | Tardiness | Average
utilization central buffer
147 6 6 7 15 6 7 7.83
148 9 8 8 9 9 11 9.17
149 1 1 3 25 1 1 533
157 8 8 4 17 8 12 9.50
158 12 12 5 7 12 13 10.17
159 2 2 2 26 2 2 6.00
167 10 10 6 16 11 18 11.83
168 11 1 9 11 10 14 11.00
169 3 3 1 27 3 3 6.67
247 13 13 13 4 13 8 10.67
248 16 - 18 17 2 16 15 13.67
249 7 7 12 19 7 ) 9.60
257 13 13 13 4 13 8 10.67
258 18 18 18 3 18 17 15.50
259 5 5 11 18 5 6 8.33
267 13 13 13 4 13 8 10.67
268 17 17 18 1 17 16 14.33
269 4 4 10 21 4 4 7.83
347 26 26 25 8 26 24 22,50
348 25 25 24 10 25 25 22.33
349 21 21 20 14 21 20 19,50
357 27 27 27 2 g v 2f 24,50
358 24 24 26 13 24 23 22.33
359 20 20 22 20 20 21 20.50
367 23 23 23 23 23 26 23.50
368 22 22 21 22 - 22 22 21.83
369 19 19 16 24 19 19 19.33
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Rule Flow time | Lateness M/C  |Number of jobs i Jobs done | Tardiness | Average
utilization | Central buffer
147 9 9 4 10 9 12 8.83
148 13 13 6 8 13 15 11.33
149 2 2 2 25 1 2 5.67
157 14 14 5 11 14 17 12.50
158 18 18 7 7 18 19 14.50
159 6 8 1 26 6 6 8.50
167 8 8 8 12 B 11 9.17
168 7 7 12 9 7 7 8.17
169 1 1 3 27 1 3 6.00
247 10 10 13 4 10 8 9.17
248 15 16 16 3 16 14 13.33
249 4 4 "9 16 4 5 7.00
257 10 10 13 4 10 8 9.17
258 16 15 17 1 15 13 12.83
259 3 3 10 13 3 1 5.50
267 10 10 13 4 10 8 9,17
268 17 17 18 2 17 16 14.50
269 5 5 11 14 5 4 7.33
347 26 26 26 18 26 26 24.67
348 27 27 27 17 27 27 25.33
349 21 21 21 20 21 21 20.83
357 24 24 23 19 24 23 22.83
358 25 25 22 15 25 25 22.83
359 20 20 19 22 20 18 19.83
367 23 23 24 23 23 24 23.33
368 22 22 25 21 22 22 22.33
369 19 19 20 24 19 20 20.17
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Rule Flow time { Lateness M/C  |Numberofjobsin| Jobs done | Tardiness | Average
utilization | Cemral buffer
147 16 16 16 15 16 ] 14.67
148 15 15 12 2 15 23 13.67
149y 1 1 19 23 1 8 8.83
157 13 13 10 13 13 18 13.33
158 21 22 13 7 22 17 17.00
159 2 2 21 24 2 5 9,33
167 14 14 18 14 14 20 15.67
168 24 23 23 8 24 26 21.33
169 3 3 22 22 3 1 9.00
247 10 10 5 18 10 13 10.67
248 25 25 4 5 25 25 18.17
249 7 7 27 27 6 11 14.17
257 10 10 5 16 10 13 10.67
258 27 26 8 6 27 24 19.67
259 5 6 26 26 5 7 12.50
267 10 10 5 16 10 13 10.67
268 23 21 2 9 23 27 17.50
269 4 4 25 25 4 6 11.33
347 19 19 1 10 19 19 16.17
348 22 24 3 1 20 10 13.33
349 6 5 15 19 7 4 9.33
357 17 17 9 12 17 22 15.67
358 20 20 1 3 21 16 13.50
358 9 9 14 20 9 K 10.67
367 18 18 20 11 18 21 17.67
368 26 27 17 4 26 12 18.67
369 8 8 24 21 8 2 11.83




141
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a4 ar ‘ dI -~ a al -~ ]
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Rule Flow time | Lateness M/C  jNumberofjobsin| Jobs done | Tardiness | Average
' utilization | ceniral buffer

147 14 15 14 6 14 7 11.67

148 26 26 16 2 26 24 20.00

149 2 2 23 20 3 5 9.17

157 17 16 12 9 17 9 13.33
158 25 25 15 3 25 19 18.67
159 3 3 24 24 5 3 10.33
167 16 17 17 4 16 6 12.67
168 27 27 19 1 27 11 18.67
169 5 4 26 22 4 4 10.83
247 11 11 5 16 10 15 11.33
248 21 21 2 13 21 25 17.17
249 3 6 27 26 6 13 14.00
257 1 11 5 16 10 15 11.33
258 19 18 1 10 19 23 15.00
259 4 7 25 27 2 14 13.17
267 11 11 5 16 10 15 11.33
268 18 19 3 11 20 27 16.33
269 1 1 22 25 1 22 12.00
347 15 14 10 15 15 12 13.50
348 22 23 8 5 22 18 16.33
349 e 8 20 23 8 9 11.67
357 10 10 9 14 13 10 11.00
358 23 22 4 8 22 26 17.50
359 8 8 18 21 9 8 12.00
367 - 20 20 13 12 18. 21 17.33
368 24 24 11 7 24 20 18.33
369 7 5 21 19 7 1 10,00
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r ﬁwﬁ'u-:mqngoiw]tdﬂﬁw'mmﬁ'nﬁfi’mﬁszﬁwﬁmwm@:i:uuum'a:o*".
Rule Flow time | Leieness M/C  |Numberofiobs n| Jobs dore | Tardiness | Average
utilization central buffer

147 15 15 14 6 15 2 11.17
148 24 24 15 2 24 5 15.67
149 2 2 22 20 1 9 9.33
157 16 16 13 5 16 1 11.17
158 26 26 16 3 26 12 18.17
159 5 6 21 21 5 10 11.33

. 167 20 20 19 4 20 6 14.83
168 27 27 27 1 27 3 18.67
169 8 7 26 19 7 7 12.33
247 10 10 4 16 10 18 11.33
248 19 19 2 12 18 25 16.00
249 3 4 25 27 2 26 14.50
257 10 10 4 18 10 18 11.33
258 18 17 1 11 18 22 14.50
259 1 1 20 25 3 17 11.17
267 10 10 4 16 10 18 11.32
268 21 21 3 8 21 21 12.33
269 7 8 23 26 7 16 14.50
347 14 14 10 14 14 13 13.17
348 22 22 8 7 22 23 17.33
349 6 5 17 23 & 11 11.33
357 13 13 9 15 13 24 14.30
358 23 23 7 9 23 14 16.50
359 9 9 18 24 9 8 12.83
367 17 17 11 13 17 15 15.00
368 25 25 12 10 25 27 20.67
369 4 3 24 22 4 4 1017
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A9197 213 nansindasungsne Wedmunlf AGY =2 Queue =3 Entity = 40

o o . A - w - .
ddurnanganedleRansondriialssdnnmressuuusieein

Ii;ule Fiow time | Lateness M/C  [Numberofjobs in| Jobs done | Tardiness | Average
utilization | ceniral buffer
147 15 11 15 15 15 10 13.50
148 9 7 9 12 9 21 11.17
149 2 P 2 22 1 13 7.00
157 10 10 10 19 11 12 12.00
158 11 12 11 13 10 15 12.00
159 3 3 3 26 3 2 6.67
167 8 9 8 21 8 11 10.83
168 7 7 i 11 7 1 6.67
169 4 4 3] 27 . 5 4 8.17
247 12 13 12 16 12 25 15.00
248 19 17 21 9 19 18 17.17
249 5 5 4 24 4 14 9.33
257 12 13 12 16 12 25 16.00
258 17 20 17 7 17 5 13.83
259 6 6 6 25 6 17 11.00
267 12 13 12 16 12 25 15.00
268 20 18 19 8 18 16 16.50
269 1 1 1 23 1 8 5.83
347 26 26 26 1 26 7 18.67
348 27 27 27 2 27 20 21.67
349 22 21 20 10 21 9 17.17
357 24 24 24 5 24 23 20.67
358 25 25 25 4 25 22 21.00
359 21 22 22 14 22 24 20.83
367 23 23 23 6 23 19 19.50
368 18 19 18 3 20 6 14.00
369 16 16 16 20 16 3 14.50
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Rule Flow time | Lateness M/C  |Number of jobs in| Jobs done | Tardiness | Average
utilization | centratbuffer
147 7 7 10 18 7 11 10.00
148 12 12 12 11 12 19 13.00
149 5 5 4 25 5 6 8.33
157 8 8 7 19 8 15 10.83
158 16 16 11 17 13 23 16.00
159 3 P 2 26 3 18 9.00
167 9 10 8 20 10 16 11.83
168 17 17 9 16 17 12 14.67
169 i 3 1 27 1 9 7.00
247 13 13 15 12 13 24 15.00
248 19 19 20 5 19 17 16.50
249 6 6 8 24 6 4 9.00
257 13 13 15 12 13 24 15.00
258 21 20 21 4 21 13 16.67
259 2 1 & 22 1 8 6.17
267 13 13 15 12 13 24 15.00
268 20 21 19 6 20 20 17.67
269 4 4 5 23 4 2 7.00
347 27 27 25 1 27 27 22.33
348 26 26 24 2 26 21 20.83
349 18 18 18 10 18 3 14.17
357 24 24 26 3 24 10 18.50
358 25 25 27 7 25 14 20.50
359 10 9 13 15 11 1 9.83
367 23 23 23 8 23 7 17.83
368 22 22 22 9 22 22 19.83
369 11 11 14 21 9 5 11.83
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-
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Rule Flow time | Lateness M/C  [Numberof jobsin| Jabs done | Tardiness | Average
utilization | Senwalbufier
147 10 10 5 18 10 7 10.00
148 17 17 8 15 17 27 16.83
149 2 1 7 25 2 11 8.00
157 12 12 2 17 12 9 10.67
158 18 18 1 10 18 26 15.17
159 1 2 6 27 4 4 7.33
167 1 11 £ 16 11 21 12,17
168 16 16 9 14 16 22 15.50
169 5 4 4 26 2 15 9.33
247 13 13 18 11 13 16 14.00
248 20 20 22 2 20 10 15.67
249 4 5 11 22 5 5 8.67
257 13 13 18 11 13 16 14,00
258 21 21 16 1 21 14 15,50
259 3 3 10 23 1 8 8.00
267 13 13 18 11 13 16 14.00
268 19 19 17 3 19 25 17.00
269 6 6 12 24 6 13 1117
347 26 27 25 4 26 12 20.00
348 27 20 24 6 27 24 22.33
349 9 9 14 19 9 2 10,33
357 23 23 23 7 23 6 17.50
358 25 25 21 5 25 23 20.67
359 8 8 16 20 8 3 10.50
367 24 24 27 8 24 20 2117
368 22 22 26 9 22 19 20.0C
369 7 7 13 21 7 1 9.33
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R191a7 116 nanedrANFungsineg Weimuslk AGY =2 Queue =5 Entity = 40
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Rufe Flow time | Lateness M/C  |Numberofjobsin| Jobs done | Tardiness | Average
utilization | central buffer
147 11 10 10 23 10 11 12.50
148 i7 17 15 12 15 2 13.00
143 1 1 1 22 2 4 517
157 8 9 8 24 9 17 12.83
158 10 10 11 5 10 1 7.83
158 3 3 3 21 3 10 717
167 14 16 14 10 14 8 12.67
168 7 7 7 11 7 6 7.50
169 8 8 e 25 8 5 10.33
247 22 22 22 18 22 25 21.83
248 21 21 21 9 21 22 19.17
249 2 2 2 17 1 7 27
257 22 22 22 18 22 26 22.00
258 15 14 16 13 16 12 14.33
259 B 6 6 27 B8 21 12.00
267 22 22 22 18 22 27 22.17
268 15 14 16 13 i6 12 14.33
269 5 4 5 26 ] 19 10.67
347 25 25 25 4 25 24 21.33
348 27 27 27 3 27 20 21.83
349 13 13 12 8 13 3 10.00
357 12 12 13 1 12 18 11.33
358 26 26 26 8 26 23 22.50
359 19 19 18 16 18 9 16.67
367 20 20 20 7 20 16 177
368 18 18 18 2 18 15 14.83
369 4 5 4 15 4 14 7.67
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Rule Flow time | Lateness M/C  [Number of jobs in] Jobs done | Tardiness | Average
utilization | Sentral bufier
147 7 7 5 13 5 14 8.50
148 19 17 18 18 18 15 17.50
149 3 3 3 26 3 1 6.50
157 14 14 14 20 8 13 13.83
158 5 8 6 19 6 26 11.67
159 1 1 1 25 1 9 6.33
167 9 10 9 21 10 12 11.83
168 15 15 15/ |4 17 15 21 16.33
169 4 4 F2 2020 % 4 20 10.50
247 10 11 0 | 14 11 6 10.33
248 16 16 16 9 16 22 15.83
249 8 6 g i 22 8 27 13.17
257 10 11 3 | 14 11 6 10.33
258 17 18 f— 6 17 25 16.67
259 2 2 AV 23 2 3 5.67
267 10 11 10 14 11 6 10.33
268 21 21 21 5 21 10 16.50
269 6 5 7 24 6 5 8.83
347 26 26 26 | 1 25 17 20.17
348 24 24 24 | 2 24 19 19.50
349 20 19 20 10 20 11 16.67
357 25 24 25 | 3 26 24 21.17
358 27 27 27 4 27 18 21.67
359 18 20 19 | 11 19 2 14.83
367 22 22 22 | 7 22 23 19,67
368 23 23 23 | 8 23 16 19.33
369 13 9 13 12 14 4 10.83
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Rule | Flowtime | Lateness M/C  |Numberofjobsin| Jobs done | Tardiness | Average
utilization central buffer
147 11 11 11 21 11 24 14,83
148 -7 7 9 14 7 19 10.50
149 3 3 2 25 2 3 6.33
157 8 10 10 19 9 9 10.83
158 16 15 ~15 18 16 27 17.83
159 1 1 1 27 1 6 6.17
167 10 8 7 16 10 14 10.83
168 9 9 8 15 7 12 10.00
169 2 2 3 26 3 13 8.17
247 12 12 12 11 12 21 13.33
248 21 21 21 6 21 25 19.17
249 5 5 5 23 6 16 10.00
257 12 12 12 11 12 21 13.33
258 19 19 19 5 19 5 14.33
259 4 4 4 22 4 4 7.00
267 12 12 12 11 12 21 13.33
268 20 20 20 4 20 18 17.00
269 6 6 6 24 5 11 9.67
347 26 26 26 1 27 7 18.83
348 25 25 24 2 23 26 20.83
349 18 18 18 10 18 1 13.83
357 24 24 25 3 25 10 18.50
358 27 27 27 7 26 20 22.33
359 17 17 17 17 17 8 15.50
367 23 23 23 8 23 17 19.50
368 22 22 22 9 22 15 18.67
369 15 16 16 20 15 2 14,00




P 1 { L4 -~ [ ) 3 : { =
A9 119 AedtraansdadAutesngate husaznsduasAnadmiieRarnsaunnnsdl
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~Rute 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18
147 14.33 } 13.33] 13.33 8.83 10.00 ] 11.00 | 13.83 7.83 8.83 14.67 | 11.67 | 11.17 | 13.50 | 10.00 | 10.00 | 12.50 8.50 14.83
148 17.83 | 16.83 | 16.83 9.83 11.33 ] 13.17 | 15.33 9.17 11.33 | 13.67 | 20.000) 15.67 | 11.17 | 12.00 ] 16.83 | 13,00 | 17.50 10.50
149 10.83 | 10.17 | 10.17 6.33 6.83 7.50 10.17 5.33 5.67 8.83 9.17 9.33 7.00 8.33 8.00 5.17 6.50 6.33
157 14.33 | 13.33 | 13.33| 8.67 11.33 ] 11.00 | 12.50 9.50 12.50 13.3_3l 13.33 | 11.17 ] 12.00 | 10.83 | 10.67 | 12.83 | 13.83 | 10.83
158 17.33 | 16.83 | 16.83 | 11.23 | 14.67 1 13.33 | 13.47 | 10.17 | 14.50| 17.00 | 1a.67 | 18.17 | 12.00 | 16.00 15.17 7.83 11.67 | 17.83

. 1569 10.17 | 10.17 | 1017 5.83 7.17 8.50 9.33 6.00 8.50 9.33 10.33 | 11.33 6.67 9.00 7.33 7.7 6.33 6.17
167 15.67 | 16.67 | 17.17 9.83 9.83 9.50 11.50 ] 11.83 9.17 15.67 | 12.67 | 14.83 | 10.83 | 11.83 | 12.17 | 12.67 | 11.83 | 10.83
168 18.00 | 18.50 | 18.50 | 10.83 | 10.83 | 10.50 | 13.67 | 11.00 8.17 21.33 | 18.67 | 18.67 6.67 14.67 | 15.50 | 7.50 16.33 | 10.00
169 10.00 | 12.00 | 11.67 5.67 8.00 8.00 8.67 6.67 6.00 9.00 10.83 | 12.33 8.17 7.00 $.33 10.33 ] 10.50 8.17—
247 12.17 §.33 8.33 11.33 ] 10.50 | 12.50 | 12.50 ) 10.67 2.17 10.67 | 11.33 | 11.33 | 15.00 | 15.00 | 14.00 | 21.83 | 10.33| 13.33
248 14.00 | 10.83 | 10.67 | 16.17 | 14.83 | 14.83 | 16.17 | 13.67 | 13.33 ] 18.17 | 17.17 | 16.00 | 17.17 | 16.50 | 35.67 | 19.17 | 15.83 | 19.17
249 8.00 5.33 5.00 9.67 9.00 9.33 9.83 9.50 7.00 14.17 | 14.00 | 14.50 9.33 9.00 B.67 5.17 13.17 | 10.00
257 11.67 8.33 8.33 11.33 1 10.50{ 13.00 | 11.67 | 10.67 9.17 10.67 | 11.33 | 11.33 | 15.00 | 15.00 | 14.00 | 22,00 | 10.33 | 13.33
258 15.00 | 10.83 | 10.83 | 14.83} 14.33 | 15.50 | 15.17 | 15.50 | 12.83 | 19.67 | 15.00 | 14.50 | 13.83 | 16.67 | 15.50 | 14.33 | 16.67 | 14.33
259 7.87 5.33 5.00 8.00 B.17 9.00 8.67 8.33 5.50 12.50 § 13.17 | 11.17 | 11.00 6.17 8.00 12.00 5.67 7.00
267 11.17 8.33 8.33 11.33 ] 10.50 | 13.00 |} 11.50 | 10.67 9.17 10.67 | 11.33 | 11.33 ] 15,00 | 15.00 | t4.00] 22.97 ] 10.33 § 13.33
268 14.00 | 13.83 | 13.67 | 15.33 | 13.33 | 1517 | 15.67 | 14.33 | 14.50 | 17.50 ] 16.33 | 15.83 | 16.50 | 17.87 17.00 | 14.33 | 16.50 § 17.00
269 7.83 7.33 6.50 9.33 7.67 | 8.67 10.00 7.83 7.33 11.33 ]| 12.00 § 14.50 .5.83 7.00 11.17 | 10.87 8.83 9.67

347 17.17 | 19.67 } 20.00 | 22.83 | 21.83 ] 20.50 | 26.00 | 22.50 | 24.67 { 16.17 | 13.50 { 13.37 [ 18.67 | 22.33 | 20.00 21.32 | 20.17 | 18.83

348 19.17 |1 20.33 | 20.33 § 22.00 | 23.67 | 23.83 | 18.83 } 22.33 | 25.33 | 13.33 | 16.33 17:33 | 21.67 | 20.83 | 22.33 21.83 | 18.50 | 20.83
349 10.00 9.83 9.33 18.50 | t8.17 | 14.17 | 17.33 (| 19.50 20.83_ 9.33 11.67 | 11.33 | 17.17{ 14.17 | 10.33 | 10.00 | 16.87 | 12.83
sy 17.67 | 19.67 | 20.00 | 23.00 | 21.17 | 19.83 § 19.67 | 24.50 ] 22.83 | 15.67 | 11.00| 14.50 ]| 20.67 ] 18a.50 ] 17.50 | 11.33 | 21.17 [ 18.50
3ss 19.00 | 20.33 | 20.33 | 22.83 | 22.00 | 20.83 | 19.17 | 22.33 | 22.83 ] 13,50 | 17.50 | 16.50 | 21.00 | 20.50 20.81'. 22,50 | 21.67 | 22.33
359 9.50 10.00 | 9.33 19.50 | 14.50¢§ 12.00 | 17.50 | 20.50 719.'83 10.67 | 12.00 | 12.83 | 20.83 9.83 10.570' 16.67 | 14.83 | t5.50
367 20.67 [ 22.00 | 22.00 | 21.50 | 22.33 | 22,67 | 15.37 | 23.50 | 23.33{ 17.67 | 17.33 | 15.00 | 19.50 | 17.a3 | 21.17 [ 17.17 [ 19.67 | 19.50
368 20.33 | 23.33 | 23.00 | 22.50 | 23.83 [ 22,17 | 14.17 | 21.83 | 22.33 | 18.67 | 18.33 | 206.67 | 14.00| 19.83 | 20.00[ 14.83} 19.33 18.67
369 11.50 { 15.00 | 15.50 | 17.50 | 18.67 | t5.67 | 13.83 | 19.33 | 20.17 | 11.83a}| 10.00 | 10.17 | 14.50 | $1.83 9.33 7.67 10.83 | 14.00

6vL
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A d21199 Model uay Experiment Fousazdauuanedail

4949949 Model

481% CREATE, 20;

4318 ASSIGN: B=B+1;

Chkcon2 QUEUVE, Chkeon2;

432% SCAN: {{Cap{l)<2).and.{20>0)).or.{Cap(2)<2).and. (20>0));

4338 BRANCH, s

If, (Cap(l)<2).o0r,(Cap(2)<2),20,Yes;
Elasa,Chkcon2, Yes:

z0 BRANCH, deb
If,20>1,2325, Yes:
Else, Zl, Yes;

2328 BRANCH, 1:
If, (Cap(l)==0).and. (Cap({2}==0}),233%,Yes:
Else, 3255, Yes;

2335 BRANCH, 1;
If,L0>0,2345,Yes:
Else, 2355, Yes;

23458 ASSIGNH: Compare(=10000:
SelectO=0;
Unit0=0;

2918 ASSIGN: i=]1;

2378 WHILE: ie=11;

238% BRANCH, .
If,lock(l)==1,239%,Yes:
Else, 2465, Yes;

2398 ASSIGN: Unit=1;

2408 WHILE: Unit<m2;

2418 ASSIGN: Cmp{unit}=IDSNET (RgvPath,LT (Agv,Unit),1):
Sel{Unit)e=i;

262% ASSIGN: Unit=Unit+1l;

242% ENDWHILE;

243§ BRANCH, 1:

If,Cmp{l)<=Cmp(2},2445,Yes:
Else, 2475, Yes;

2448 BRANCH, oLg
I1f,Comparel>Cmp(l),2458, Yes;
Else, 2465, Yes;

2458 ASSIGN: CompareQ=Cmp (1)
Unit0=1:
Selectlwi;

2465 ASS5IGN! imi+l:

2638 ENDWHILE;

2928 ASSIGN: Unit=Unit0;

2618 ASSIGN: Cmp (Unit)=Compare(:
Sel {Unit}=Select0:
N=SelectO;

293% ASSIGN: Lock (N}=0:
LO=L0~1:
Que=N+11:
Nex=Aque (Cue,1,18);

EVE ASSIGN: AgvCtrl{Unit,Cap(Unit}+1)=Sel (Unit):

AgvCtrl (Unit,Cap(Unit}+3)w=Nex:
AgvCtrl(Unit,Cap(Unit}+5}=0:
Cap({Unit)=~Cap(Unit}+1:
Z0=Z0-1:NEXT (K);

K BRANCH, 1:
If,Unitm=1,2665,Yas:
Else,2775,Yes;

26685 BRANCH, 1:
If,Cap({l)==1,267%,Yes:
Else, 2725, Yes;

267§ BRANCH, 1:
If,N<=1]1,2668%,Yes:

. Else, 2695, Yes;
2689 ASSIGN: A{23,entatrank(l,queueset(n+ll)))=1;



ud
Dummyl
Dummy
2695

2708
us.

Dg

2718

ué
Dagvque
272%

273%
2745

275%
276$
277%

278%

279§
280%
281%

2829
2833
20848
295§
2065

2875
288§

2895
2905
247$

248%

2358

2363%
29485
2959
258%
2975
2963
2998

3005
302%

4348

301%

409%

4105
411%
412%

REMOVE:
RELEASE:
QUEUE,
BRANCH,

ASSIGHN:
REMOVE:
QUEUE,

ASSIGN:
REMOVE:
QUEUE,

BRANCH,

ASSIGN;
BRANCH,

ASSIGN:
ASSIGN:
BRANCH,

BRANCH,

ASSIGN:
REMOVE:
BRANCH,

ASSIGN:
REMOVE !
ASSIGN:
REMOVE:
BRANCH,

ASSIGN:
BRANCH,

ASSIGN:
ASSIGN:
BRANCH,

ASSIGN:

BRANCH,

ASSIGN:
ASSIGN:
WHILE:
ASSIGN:
ASSIGN:
ENDWHILE;
BRANCH,

ASSIGN:

RSSIGN:

ASSIGN:

ASSIGN:

ASSIGN:

ASSIGN:
WHILE:
BRANCH,

151

1,queueset (n+11}, Dummyl :NEXT (chkcon2} ;
BefQset (setindex),1;

Dummyset (setindex), 4 :DETACH;

1-

If,N==12,270§,Yes:

Else,2715,Yes;
A{23,entatrank{l,g))=1;

1,0, Dg:NEXT (chkconl) #

D12, 4:DETACH!
A{23,entatrank{l,Agvque)}=1;
1,Agvque, Dagvque :NEXT (chkcon2} ;

D13, 4:DETACH;

1:

If,N<=11,273%,Yes:

Else, 274§, Yen;
A{24,entatrank(l,queuaset(n+1ll)})=1:NEXT{ud);
1: :

If,N==12,275%, Yes:

Else,276%, Yas;
A(24,entatrank{l,q))=1:NEXT{u5);
A(24,entatrank(l, Agvque) )=1:NEXT (ut);
las

If,Cap(2)==1,2708%,Yes:

Elna,2B865,Yes;

1:

If, N<=11,275%,Yes:

Else,281%, Yes;
A{25,entatrank(l,queueset (n+ll})))=1;
1, queueset {n+ll) , Dummyl:NEXT (chkcon2)
1:

If,N==12,62825,Yes:

Else, 2845, Yes;
A(25,entatrank(l,Q})=1;

1,Q,Dg:NEXT {chkcon2) ;
A({25,entatrank(l,AgvQue)}=1;
1,AgvQue, Dagvque :NEXT (chkcon2} ;

g

If,N<wll,2875,Yes;:

Else,288%, Yes; .
A{26,entatrank(l, queueset{n+1ll))}=1:NEXT(280%);
i

If,N==12,6289%, Yes:

Else, 2805, Yes;

A{26,entatrank(l,Q) }=»1:NEXT(283%5):;
A{26,entatrank (1, AgvQue) =1 :NEXT(2858);
1:

If,CompareQ>Cmp{2),2488, Yes:

Else, 2465, Yes;

CompareQ=Cmp (2} :

Unit0O=2:

SelectO=i:NEXT(2465):

1:

If,NQ(Q)>0,2365,Yes:

Else, 4095, Yes;

1=12;

Unitm=l;

Unit<=2;

Cmp {unit)=IDSNET (AgvPath, LT (Agv,Unit),28) ¢
Unit=Unic+1;

1:
If,Cmp(l)<=Cmp(2),300§,Yes:
Else, 3015, Yes;

Unit=1;

Sel(Unit])=Buffer:

N=12:

Nex=Aque (Q,1,21);

AgvCtrl (Unit,Cap{(Unit}+1}=Sel (Unit):
AgvCtrl (Unit,Cap{Unit)+3}=Nex:
AgvCtrl (Unit,Cap{Unit)+5)=0:
Cap{Unit)=Cap(Unit)+1l:
Z0mZ0-1:NEXT(K);

Unit=2:NEXT (3025}
CompareQ0=10000:

UnitO=0:

SelectO0=0;

im=1;

1<=13;

1;

If,i<=11,4135%,Yen:



4138

4145
4158
416$
418%
419%
422%

4235
426%

4278

428%
4308

429%
4175
420%
421$%
424%

425%
325%

a2es

27
33zs
3333
3343
3358
3368

3378

3528
338%
339%
538

ul

3408

341% |

BRANCH,

ASSIGN:

BRANCH,

BRANCH,

ASSIGN:
ASSIGN:
ASSIGN:

ENDWHILE;
ASSIGN:

BRANCH,

ASSIGN:

ASSIGN:

ASSIGN:
BRANCH,
ASBIGN:
ASSIGN:

BRANCH,

ASSIGN:

BRANCH,

BRANCH,

ASSIGN:
BRANCH,

ASSIGN:
WHILE:

BRANCH,
BRANCH,

ASSIGN:

ASSIGN:
ASSIGN:
ENDWHILE;
ASSIGN:

RSSIGN:

BRANCH,

ASSIGN:

1562

If,i=wl3,424%,Yes:

Else, 4225, Yes;

1:

1f,NQ(Queueaet (1+11))>0,4145%, Yes:
Else, 422§, Yas;

Crp(l}=Idsnet (Agvpath,LT(Agv,1),1):
Cmp (2} =Idsnet (Agvpath,LT (Agv,2).1);
1l:

If,Cmp(l)<=Cmp(2),416%,Yes:

Else, 4175, Yes;

l:

If,Compare0>Cmp(l),418%, Yes:

Else, 4225, Yes;

Compare0=Cmp (1) ;

Unit0=1:

Select0=1i;

i=i+1;

Unit=Unit0:

Sel (Unit)=SelectO:

NmSalect0:

1:

If,N<=11,428%, Yes:

Else, 4295, Yes;

Que=N+11;

Nex=Aque (Que, 1, 18);

Agvctrel (Unit,Cap{Unit)+l)=Sel {unit):
Agvctrel (Unit,Cap{Unit)+3)=Nax:
Agvctrl (Unit,Cap{Unit)+3)=0:
Cap{Unit}=Cap(Unit}+l:
Z0=Z0=-1:NEXT (K)

Que=Agvgue:

Nex=Aque (Que,1,18) :NEXT (4308);

10

If, CompareO)Cmp(Z),420$ Yes:

Else 4225, Yes;

CompareO-Cmp(Z).

UnitQ=2:

Select0=1:NEXT (4225},

s

If,NQ(AgvQue)>0, 4255, Yes:

Else,422%, Yes;

Cmp (l)=Idsnet (Agvpath,LT(Agv,1),1):
Cmp (2)=Idsnet (Agvpath, LT {agv,2),1) tNEXT(415%};
1;

If, (Cap{l}==0).or.{(Cap(2)==0),326%, Yes:
Else,329%, Yes;

1:

If,Cap(l)==0,327%, Yes:

Else, 3285, Yes:;

Unit=1:

1:

If,L0>0,3335,Yes:

Else, 340%, Yes;

i=1:

Cmp (Unit)=10000;

i<mll;

1

If,lock(i)==1,336%,Yes:

Else,338%, Yes;

1-

If,Cmp(Unit)>=IDSNET (AgvPath,LT(Agv, Unit).i),3375 Yes:
Elge, 338%, Yes;

Cmp (Unit)=IDSNET (AgvPath, LT (Agv,Unit),i}:
Sel (Unit)=i:

Nex=Aque {i+11,1,18B);

Nmji;

imi+l;

Lock (N)=0:

LO=LO-1; ]
AgvCtrl {Unit,Cap(Unit)+1)=8el{Unit):
AgvCtrl {Unit,Cap(Unit)+3)=Nex:
AgvCtrl{Unit,Cap{Unic)+5)=0:
Cap(Unit)=Cap{Unit)+1;
Z0=Z0=1:NEXT (K);

1l:

If,NQ(Q)>0,3415,Yes;
Else,342%,Yes;

Sel (Unlt)=Buffer:
Nex=Aque(q,1,21):



3425
3438
3545
3448

345%

3465
3518
347§
348§
X3
349§

u2

3508
355%

3568

3288
329%

4358
4365

454§
4395
440§

441%
4425
4435

452§
4448
4458

446S
4478

4485
4533
4558
451%

4568

4578

ASSIGN:
WHILE:

BRANCH,
BRANCH,

BRANCH,

ASSIGN:
ASSIGN:
ASSIGN:
ENDWHILE;
RRANCH,
ASSIGN:

ASSIGN:

ASSIGN:

BRANCH,
BRANCH,

ASSIGN:
BRANCH,

BRANCH,
ASSIGN:

ASSIGN:
WHILE:
BRANCH,

ASSIGN:
WHILE:
ASSIGN:

ASSIGN:
ENDWHILE;
BRANCH,

BRANCH,
ASSIGN:

ASSIGN:
ENDWHILE;
ASSIGN:
ASSIGN:

ASSIGN:

ASSIGN:

N=12:NEXT {ul);
i=1:

Cmp (Unit)=10000;
1<=13;

1;
If,i<=11,344%,Yes:
Else, 3555, Yes;

1:

If,NQ(Queueset (1+11})>0,3455,Yes:
Else, 3475, Yes;

1:

If,Cmp (Unit)}>IDSNET (AgvPath,LT (Agv,Unit),i}),3465,Yes:

Else, 3475, Yes;

Cmp (Unit)=IDSWET (AgvPath,LT{Agv,Unit}, i)} :
Sel (Unit)=i;

Negel (unit};

1=i+1;

1:

If,N==13,3495, Yes:

Else, 350§, Yes;

Que=Agvque:
Nex=hAgque (Que, 1,18);

AgvCtrl (Unit,Cap(Unit)+1l}=Sel (Unit):
AgvCtrl{Unit,Cap{Unit)+3)=Nex:
AgvCtrl {Unit,Cap{Unit)+5}=0:
Cap{Unit)=Cap(Unit}+1:
Z0=Z0=-1:NEXT (K} ;

QuesN+11:
Nex=Aque {Que, 1, 18) :NEXT (u2) ;
1:

If,im=]l2,3475, Yea:

Else, 3565, Yes;

1:

1£,NQ(Agvgue) >0, 3458, Yes:
Else, 3475, Yes;
Unit=2:NEXT(3325);

=

If, (Cap{l)==1).and.{Cap{2)}m»=1},4355,Yes:
Else, 3303, Yes;

1: .

If,L0>0,4365,Yes;

Else, 437§, Yes;

Compare0=10000:

SelectO=0:

Unito=0;

i=1;

1<=11;

1:

If,locki{i)==1,441%, Yes:

Else, 4485, Yes;

Unit=1;

Unit<=2;

Cmp (unit)=IDSNET (AgvPath, LT {(Agv,Unit),1}:
Sel(Unit)=i;

Unit=0Unit+1;

1:
If,Cmp(l)<=Cmp(2),446%, Yes:
Else, 4495, Yes;

1:
If,Compare0>Cmp(l),4475,Yes:
Else, 4485, Yes;
CompareC=Cmp (1) :

UnitO=1:

SelectO=1i;

imi+l;

Unit=Unit0;

Cmp{Unit)=Compare0:

Sel {Unit)=SelectO:

N=Select(;

Lock(N)=0:

LO=L0=-1:

Que=N+11:

Nex=Ague (Que,1,18B}; .
AgvCtrl(Unit,Cap(Unit)+1l)=Sel{Unit):
AgvCtrl (Unit,Cap(Unit)+3)=Nex:
AgvCtrl(Unit,Cap(Unit)+5)=0:

Cap (Unit)=Cap(Unit)+1:
Z0=20-1:NEXT (K} ;

153



154

449% BRANCH, 1:
If,Comparel>Cmp(2),450%,Yes:
Else, 448§, Yes;
4505 ASSIGN: Compare0=Cmp (2) :
Unit0=2:
SelectO=1:NEXT (4485);
437% BRANCH, 1:
It'NO(Q)>01438$'Ye3: . -
Else, 3675, Yes;
4338% ASSIGN: i=12;
4585 ASSIGN: Unitw]l;
4598 WRILE: Unit<=2;
4628 ASSIGN: Cmp {unit)=IDSNET {AgvPath,LT (Agv,Unit) DT (Buffer));
46185 ASSIGN: Unit=Unit+l;
4608 ENDWHILE:
4638 BRANCH, 1:
If,Cmp(l)<=Cmp{2),464%,Yes:
Else, 4655, Yes;
464% ASSIGN: Unitml;
4665 ASSIGN: Sel {Unit)=Buffer:
N=12:
Nex=Aque (Q,1,21);
4675 ASSIGN: AgvCtrl (Unit,Cap(Unit)+1)=Sel (Unit):

AgvCtrl (Unit, Cap (Unit)+3)=Nex:
AgvCtrl (Unit,Cap(Unit)+5)=0:
Cap{Unit)=Cap(Unit)+l: .
Z0=20~1:NEXT(K) ;

465% ASSIGN: Unit=2:NEXT{46635);

367% ASSIGN: Compare0=10000;
Select0=0:
UnitO=0:
MQ=0;

358% ASSIGN: i=1;

359% WHILE: 1<=13;

371% BRANCH, 1:
If,i<=11,3605,Yes:

Else, 3725, Yes;

3605 BRANCH, aLf
If,NQ(Queueset(i+ll))>0,3745,Yes:
. Else,1II,Yes; ’
3745 BRANCH, 1l:
If,MO>NQ(Queueset {(1+11)},III,Yes:
Else, 3755, Yes;

III ASSIGN: 1mi+1;
K138 ENDWHILE;
3805 ASSIGN: N=Select(:
Unit=0Unit0;
168§ BRANCH, 1:
If,N»=13,369%, Yesa:
Else, 3705, Yes;
3698 RSSIGN: Que=AgvQue:
Nex=Aque (Que,1,18);
385$% ASSIGN: AgvCtrl (Unit,Cap(Unit)+1)=N:

AgvCtrl{Unit,Cap(Unit)+3)=Nex:
AgvCtrl(Unit,Cap{Unit)+5)=0:
Cap{Unit)=Cap{Unit)+1:
Z0=Z0=1:NEXT (K):

3708 ASSIGN: Quem=N+11:
Nex=Agque {Que, 1, 18) :NEXT (385%);

3758 BRANCH, 1:

If,MQ==NQ(Queuneset(i+11)},3815, Yes:

Else,3765,Yes;

3818 ASSIGN; Cmp{l)=Idsnet (Agvpath,LT(Rgv,1},1):

Cmp({2)=Idsnet (Agvpath,LT (Rgv,2}.1);

362§ BRANCH, 1:

If,Crop(l)<=Cmp{2),363§, Yes:
Else, 3655, Yes;

363 BRANCH, 1l:
If,CompareC<=Cmp(l),III,Yes;
Else, 3645, Yes;

3645 ) ASSIGN: CompareO=Cmp (1) :
UnitO=1:
SelectO=i:NEXT(III};

36585 BRANCH, 1:

If,Compare0<=Cmp(2),III,Yes:
Else, 3665, Yes;

3665 ASSIGN: CompareQ=Cmp (2) :
Unit0=2:
SelectO=1i:NEXT(III);

376% ASSIGN: MQ=NQ (Queueset {i+11)}:



3775

a7es
379%

3728

3735

3gzs

3gas

384$

330%

3575
4685

4693

4708

4718

472%

4738

479%
4748
475%
4808

476%

477§

4788

3895

3865
3g7s
390%

3888

3938

Il
403s%
407§

4045

BRANCH,

ASSIGN:
ASSIGN:

BRANCH,
BRANCH,
BRANCH,
BRANCRH,

ASSIGN:

BRANCH,

ASSIGN:
BRANCH,

ASSIGN:
WHILE:

BRANCH,
BRANCH,

ASSIGN:

ASSIGN:
ASSIGN:
ENDWHILE;
ASSIGN:

ASSIGN:

BRANCH,
ASSIGN:
ASSIGN:

ASSIGN:
WHILE:
BRANCH,

BRANCH,
BRANCH,

ASSIGN:
ENDWHILE:
ASSIGN:

BRANCH,

SelectO=i:

Cmp (1) =Xdsnet (Agvpath, LT (Agv,1),1):
Cmp (2} =Idanet (Agvpath, LT (Agv,2),1):
1:

If,Cmp(l)<=Cmp(2),376%,Yes:

Else, 3795, Yes;

Compare(0=Cmp (1) :

UnitOm1:NEXT{III};

Compare(=Cmp (2} :

UnitO=2:NEXT(III};

1:

I€,lmwl?, XII,Yes:

Else, 373§, Yes;

1:

I1f,NQ{Agvque)>0,3625,Yes:
Else,III,Yes;

1l:

1€, MO>NQ(Agvque), III, Yes:
Else,383%, Yes;

l:

If,MQ==NQ(Agvque), 3815, Yea:

Else, 3845, Yes:

MQ=NQ(Agvque) :

SelectOmi:
Cmp(1)=Idsnet(Agvpath,LT(Agv,1),1):
Cmp (2)=Idsnet (Agvpath, LT (Agv,2),1) :NEXT(377%) ;
1;:

If,Cap(l)==1,3575, Yea:

Else, 3315, Yes;

Unit=1;

1:

If,L0>0,469%,Yes:

Else, 4775, Yes;

iml:

Cmp{Unit)=10000;

i<=11;

1:

If,lock(i)m=l,472%, Yes:

Else, 4748, Yes;

1:

If,Cmp (Unit}>=IDSNET (AgvPath, LT (Agv,Unit},i},4735, Yes:

Else, 4745, Yes;

Cmp (Unit)=IDSNET (AgvPath,LT (Agv,Unit),i):
Sel{Unit)=i:

Nex=Rque (i+11,1,18});

N=i;

i=i+1;

Lock (N)=0:

LO=L0=-1;

AgvCtrl (Unit,Cap(Unit)+1)=Sel(Unit):
AgvCtrl(Unit,Cap(Unit)+3)=Nex:
AgvCtrl(Unit,Cap{Unit)+5)=0:
Cap{Unit)}=Cap(Unit)+l:
20=20~1:NEXT (K} ;

1:

I£,NQ(Q)>0,4785,Yes:

Else, 3895, Yes;

Sel (Unit)=Buffer:

Nex=Aque (q,1,21}):
N=12:NEXT{4768);

Compare0=10000;

SelectO=0:

MQ=0;

i=1:

icm=13;

1:

If,1<=11, 36885, Yes:

Else,391%, Yes;

l:

I£,NQ{Queueset (i+11})>0,3935, Yes:
Else,Il,Yes;

1: .

I£,MO>NQ{Queueset {i+11)},I1,Yes:
Else, 3945, Yes;

imi+l;

NwSelectO:
Sel{unit)=select0;
1:
If,N==13,405%, Yes;

165



4055

408%

4063

394%

398%

3998

397%

3918

923

395%

3963

4008

4013
4028

331%
zl

z2

485%
4863
4893
488%
487§
4908

491%
4933

4943

4925
2495
250%
251%
252%
3035

2535

2648

ASSIGN:

ASSIGN:

ASSIGN:

BRANCH,

BRANCH,

ASSIGN:

ASSIGN:

BRANCH,

BRANCH,

BRANCH,

BRANCH,

BRANCH,

ASSIGN:
ASSIGN:

ASSIGN:
BRANCH,

BRANCH,

ASSIGN:
WHILE:
ASSIGN:
ASSIGN:
ENDWHILE;
BRANCH,

ASSIGH:
ASSIGN:

ASSIGH:

ASSIGN:
ASSIGN:
WHILE:
ASSIGN:
WHILE:
BRANCH,

BRANCH,

ASSIGN:

Else, 4065, Yes;

Que=AgvQue:

Nex=Aque (Que,1,18);

AgvCtrl (Unit,Cap{Unit)+1l)=Sel (unit}):
AgvCtrl (Unit,Cap(Unit}+3)=Nex:
AgvCtrl{Unit,Cap(Unit}+5)=0;
Cap{Unit)=Cap(Unit}+1l:
20=20-1:NEXT({K);

Que=N+11:
Nex=Ague (Que, 1, 1B) :NEXT (4088} ;
1-

I£,MQ==NQ(Queueset (i+11)},3988, Yes:
Else, 397§, Yes;
1:

1f,Compare0<wIdsnet (Agvpath,LT(Agv,unit),i},I1,Yes:

Else, 3995, Yes;
Compare(OmIdsnet {(Agvpath,LT (Agv,unit},i}:
SelectO=4i;:NEXT (I1);

MQ=NQ{Queueset (i+11}):
SelectO=4i:

CompareO-Id:net(Aqvpath,LT(Aqv,Unit),i):NEXT(Il);

1:

If,i==13,3925,Yes;

Else, I1,Yes;

L
If,NQ(Agvque)>0,3955,Yes;
Else,Il,Yes;

1: ]
If,MO>NQ{Agvque),Il, Yes:
Else, 3969, Yes;

pr

If,MQ==NQ (Agvque},400%,Yes:
Else, 402§, Yas;

1:

If,CompareC<w=Idsnet(Agvpath,LT{(Agv,unit),1),I1, Yes:

Else, 401§, Yes;

CompareOwIdsnet (Agvpath,LT (Agv,unit),i}:
SelectO=l:NEXT({Il};

MQ=NQ (AgvQue) :

SelectD=1;NEXT(I1):

Unit=2:NEXT (468%);

1: :

If, (Cap(l)==0).and. (Cap(2)==0),22,Yes:
Else, 3065, Yes;

1:

If,NQ(Q}>0,4855, Yes:

Else, 2495, Yes;

Unit=1;

Unit<=2;

Cmp {unit}=IDSNET (AgvPath,LT (Agv,Unit),28);
UniteUnit+l;

1:

If,Cmp(l)<=Cmp(2),4915, Yes:

Else, 492§, Yes:;

Unitel;

Sel (Unit)=Buffer:

N=12;

Nex=Aque (Q, 1,21);
AgvCtrl{Unit,Cap{Unit}+1)=Sel (Unit):
AgvCtrl{Unit,Cap{Unit}+3)=Nex:
AgvCtrl (Unit,cap{Unit)+5)=0:
Cap(Unit)=Cap({Unit)+l:
Z0=20-1:NEXT (K} ;
Unitw=2:NEXT{4935);

Unit=l;

Unit<=2;

i=1;

1<=13;

1l:

If,i<=11,253%, Yes:

Else, 3045, Yes;

1l:

If,NQ{Queueset (i+11}}>0,264$, Yes:
Else, 2545, Yes;

Cmp (Unit)=IDSNET {AgvPath,LT (Agv, Unit),1i):
Sel {Unit)=i:

Que=i+ll:

Nex=Aque {Que,1,18)}:

166



2545
255%
2568
2575
2585

2585

Ull

2605

3043

305%

2655

3065

307%

3085
z3

4845

4955

3145

3155
3225

3165

3198

3175

3189

3218

3238

324%

3208

309%
310%

3114

3125

ASSIGN:
ENDWHILE;
ASSIGN:
ENDWHILE;
BRANCH,

ASSIGN:

ASSIGN:

ASSIGN:

BRANCH,

BRANCH,

ASSIGN:

BRANCH,

BRANCH,

ASSIGN:
BRANCH,

ASSIGN:

ASSIGN:

ASSIGN:

WHILE:
BRANCH,

BRANCH,

ASSIGN:

ASSIGN:

ENDWHILE;

ASSIGN:

BRANCH,

BRANCH,

ASSIGN:

ASSIGN:
BRANCH,

BRANCH,

ASSIGN:

157

N=i;
1=i+1;

Unit=Unit+l;

1:

If,Cmp(l)<=Crp(2),2595,Yes:
Else, 2605, Yes;

Unitm=l;
AgvCtrl{Unit,Cap(Unit}+1)=Sel{Unit}:
AgvCtrl{Unit,Cap(Unit)+3)=Nex:
AgvCtrl{Unit,Cap{Unit)+5)=0:
Cap{Unit)=Cap(Unit)+1l:
Z0wZ0-1;:NEXT (R} ;

Unilt=2:NEXT (U1ll);

1:

If,iwm12,2545, Yas:

Else, 305%, Yes;

1l:

If,NQ(Agvque)>0,2655, Yes:
Else, 254§, Yes;

Cmp (Unit)=IDSNET (AgvPath, LT (Agv,Unit),13):
Sel {Unit)=13:

Quewagvque:

Nex=Rque (Que,1,18):

N=ji :NEXT (2545) ;

1l:

If, (Cap{l}==0),0r.{Cap{2)==0},3075,Yes:
Else,3105%,Yes;

1:

If,Cap(l)==0,308§, Yes:

Else, 3095, Yes;

Unit=1;

1:

If,NQ(Q)>0,484%, Yes:

Else, 3145, Yes;
Sel(Unit)=Buffer:
Nex=Rquei{q,1,21):

N=12; .
AgvCtrl(Unit,CapiUnit)+l)=Sel (Unit}:
AgvCtrl(Unit,Cap({Unit)+3)=Nex;
AgvCtrl(Unit,Cap(Unit)+5)=0:
Cap (Unit)=Capi{Unit)+1:
Z0=20-1:NEXT(K);

i=1;

1<ml13;

1:

If, i<=11,316%,Yes:

Else, 3238, Yes;

=

If,NQ{Queueset (i+11)}>0,319%, Yes:
Else, 3178, Yes;

Sel(Unit)=i:

Que=i+1l:

Nex=Aque (Que,1,18):

Nei;

fmi+l;

AgvCtrl (Unit,Cap (Unit)+1)=Sel (Unit}:
AgvCtrl (Unit,Cap (Unit)+3)=Nex:
AgvCtrl (Unit,Cap (Unit)+5)=0:
Cap (Unit)=Cap(Unit)+1:
Z0=Z0~1:NEXT (K) ;

1:

If,i==12,3175%,Yes:

Else, 3245, Yes;

1;

If,NCG{Agvque}>0,3205, Yes:
Else, 3175, Yes;

Sel({Unit)=13:

Que=agvque:
Nex=Aque (Que, 1,18} :

N=1:NEXT (3175}
Unit=2:NEXT(Z3);

1;

If,(Cap(l)==1).and. (Cap(2)==1),22,Yes:
Else, 3115, Yes;

1:

If,Cap(l)==1,312%, Yas:

Else, 313§, Yes;
Unit=1:NEXT(23): - :



313%

482$%
194%

agvl
0%
230%
BRN

Pickl

ASSIGN:

CREATE,
BRAMNCH,

QUEUE,
SCAN:
DELAY:
BRANCH,

BRANCH,

Unit=2:NEXT(Z3):

1;

23
Always,Agvl, Yes:
Always,AgvZ, Yes;
agvl;
AgvCtrl(l, 1} <>0;
0.000001;

1:
If,Agvctrl{l,2)<>0,Pickl,Yes:
Else,Allol, Yes;
1:

158

If, IDSNET (AgvPath, LT (Agv,1}),DT (AgvCtrl(l,1)})<=IDSNET (AgvPath,LT (Agv,1l),DT{AgvCtrl(l,2

111,935, Yes:

93%
975§
985
Branchd

ALLOCATE,
MOVE:
ASSIGN:
BRANCH,

Else, 945, Yes;
l:Agv(l),agvctrl(l,1};
Agvi(l),Agvctrl(l,1);
Agvctrl{l,5)=1:NEXT {Branch5);
1:

1f,IDSNET (AgvPath, LT (Agv,1),DT(AgvCtrl(l,2))}<=IDSHET{AgvPath,LT(Agv,1),DT(AgvCtrl (1,3

})),15,Yes:

18
2%
Branché

MOVE:
ASSIGN:
BRANCH,

Else, 35, Yes;
Agv{l},Agvctrl(l,2);
Agvctrl(l, 6}=1;

1:

If,IDSNET (AgvPath,LT{(Agv,1},DT(AgvCtrl(1l,3}))<=IDSNET(AgvPath,LT{(Agv,1},DT{AgvCtrl(l, 4

)1),45,Yes:
as
1685

238
Loopl
31%
32%

335
348

358
368
375
u?

ASl

153§

1548
155%
115%

Branchl

27§

MOVE:
BRANCH,

ASSIGN:
ASSIGN:
WHILE:

BRANCH,

FINDJ,
BRANCH,

REMCVE:
ASSIGN:
ENDWHILE:
BRANCH,

ASSIGN:

BRANCH,

FINDJ,
ASSIGN:
DELAY:

BRANCH,

MOVE!

Else,MB2Z,Yes;
Agv(l), Agvetrli{l,3);
1-

If, Agvctrl{l,d)==12,235, Yes:
Else, 22§, Yes;

Line{1}=1:NEXT (Loopl):

iw]l;

1<=13;

1:

If,NQ{Dummyset (i))>0,33%,Yes:

- Else, 365, Yes;

1,NQ(Dummyset (i)} :Aque (Dummyset (1},J,23)==]l;
l-

1£,3<>0, 355, Yes:
Else, 36§, Yes; .
J,Dummyset {1),station;

i=i+l;

1:

If,Line(l)==1,AS1,Yes:
If,Line(2)==1,RA52,Yes:
If,Lina(3}==1,AS3, Yes:;
If,Line(4)w==1,AS4, Yes:
If,Line(5)==1,AS5, Yes:
If,Line(6)==1, AS6, Yes:
If,Line(7)==1,AS87, Yes:
If,Line(8)==1,AS8, Yes:
If,Line(%)==1,A59, Yes:
If,Line(10)==1,6AS10, Yes;
If,Line(ll)==1,AS11, Yes:
If,Line(12)==1,AS12, Yea:
Else,ASl13, Yes;
Cap{l}=Cap(l)-1:
AgvCtrl(l, l)w=AgvCtrl{l, 2):
AgvCtrl (1, 3)wAgvCtrl(l,4):
AgvCtrl(1l,5)=AgvCtrl({l,6):
AgvCtrl(l,2)=0:
AgvCtrl(l,4)=0:
AgvCErl(l,6)=0:

Line{1l)=0;

1: '
If,Agvctrl(l,l)==15,1545, Yes:
Else, 745, Yes;
1,ng{dummyset(12)):aque {dummyset(12),J,24)=m];

A{24,entatrank(J, dummyset{12}})=0:
A{23,entatrank(J, dummyset(12)})=1;
0.000001 :NEXT(Branchl};

1:

If,AgvCtrl(l,2)<>0,Branch5, Yes;

Else, 275, Yos;
Agv{l),Firstx{Intx (DT (Agvctrl{1l,3))));
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845 BRANCH, 1:
If,Lt{Agv,1)==DT(Agvctrl{1,3)},1655,Yes:
Else,85%, Yes;

165§ BRANCH, 1:
1f,Agvctrl(l,3)==12,285,Yes;
Else, 295, Yes;

288 ASSIGN: Line (10)=1:NEXT (Loopl}:

298 BRANCH, 1:

If,nq(queueset {Agvctrl(l, 3)))<3,285, Yes:
Else,129%, Yes;

125% BRANCH, 1:
If,Agvctrl{l,1)==15,130%,Yes:
Else,99%,Yes;
1305 FINDJ, 1,RQ(Dummyset (12} ) : (Aque (Dummyset {12),J,23)==1};
1315 ASSIGN: A(21,entatrank(J, dummyset(12))}=Agvctrl(l,3}:
Agvectrl{l,3)=Buffer;
Eranchl BRANCH, 1:
If,AgvCtrl{l,2)<>0,Branchd, Yes:
. Else, 1728, Yes;
Branchg BRANCH, 1:

If.IDSNET(AgvPath,LT(Aqv,l),DT(Angtrl(l.J)))<-IDSNET{AgvPath,LT(Agv,1),DT(Aqutrl(l,Z
1)).12%,Yes; _
Elne, 145, Yes;

125 MOVE: Agv(l),Agvetrl({l,3);
133 ASSIGN: Line (4)=1:NEXT (Locp2};
Loop2 ASSIGN: i=1;

38% WHILE: 1<=13;

39% BRANCH, 1:

If,NQ{Dummyset (i)1>0,40%,Yes:
Else, 435, Yes;

409 FINDJ, 1, NQ(Dummyset{i)) :Aque {Dummyset(i),J,23)==1;
41% BRANCH, 1:
If,J<>0,425, Yes:
Else, 435, Yes; .
425 REMOVE: J,Dummyset (1) ,Buffer;
43§ ASSIGN: i=1+1;
4495 ENDWHILE;
ug BRANCH, i :

1€,Line(l)==1,AS]1, Yes:
1f£,Line{2)==1,A52, Yes:
If,Line{3)==1,AS53,Yes:
If,Line{d)==], AS4, Yes:
If,Line(5)}==1,AS85, Yes:
If,Line(6)==]1,AS6, Yes:
If,Line(7)==], Loop4d, Yes:
If,Line{B}==1,AS8,Yes:
If,Line{9)==1,AS9,Yes:
If,Line{l0)==1,A510, Yes:
If,Line(ll)=w=], AS1], Yes:
If,Line(12)==]1,6A812, Yes:
Else,AS13, Yes;

AS2 ASSIGN: Agvetrl(i,2)=0:
Agvetrl(l,4)=0:
Agvetrl{l, 6}=0:
Cap{l}=Cap{l}-1:

Line(2)=0;
1135 DELAY: 0.000001:NEXT (Branchl);
AS3 ASSIGN: Cap{l)=Cap(l)-1;

AgvCtrl{l,l)=AgvCtrl{l,2}:
AgvCtrl{l,3)=AqgvCtrl(l,4}:
AgvCtrl(l,S)=AgvCtrl(l,6):
AgvCtrl(l,2)=0:
AgvCtrl{l,d}=0:
AgvCtrl{l,6}=0:

Line [3) =0}
1475 BRANCH, 1:
If,Agvctrl(l,1l)==15,148%,Yes:
Else,72§,Yes;
148§ FINDJ, 1,nq(dummyset{12)):aque (dummyset(12),J,24)w=1;
149% ASSIGN: A(24,entatrank{J,dummyset (12)))=0:
' A(23,entatrank({J,dummyset(12)))=1;
122% DELAY: 0.000001;NEXT (Branchd) ;
Branchd BRANCH, i:
If,Agvctrl(l,2)<>0,Branchq{_2,Yes:
Else,Ml, Yes;
Branch4_2 BRANCH, 1:

If,Igg:ET(AgvPath,LT(Agv,lJ,DT(Angtrl(l,l)))<-IDSNBT(Aqunth,LT(AgV,1),DT{AgVCtrl(l,Z
Y1y, Yes:
Else,6l5, Yes;
59% MOVE: Agv{l),Agvctrl{l,1);
605 ASSIGN: Agvctrl (L,3)=1:NEXT (Branchb);



Agvi{l),Agvetrl(l,2);
Agvctrl(l,6)=1;
1:
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If,IDSNET(AgvPath,LT(Agv,ll,DT(Angtrl(l,ll))<-IDSNET(AgvPath,LT(Agv,1),DT(Angtrl(1,4

Else, 655, Yes;
Agvi{l),Agvetrl(l,1):
Agvctrl{l, 5)=1:NEXT{Branché):
Agvi{l) ,Agvctrl(l,4}:

l-

If,Agvctrl(l,4)==12,675,Yes:
Elae, 665, Yes;

Line{l2)=~1:NEXT {Loop3};

im]l;

1¢<m13;

1;
If,NQ(Dummyset{1)1>0,47%, Yes:
Else, 505, Yes:;

1,NQ{Dummyset (1)} : Aque (Dummyset {1},J,24)==1;

1:

If,J<>0,495, Yes:
Else,50%,Yes;

J, Dummyset (1) ,station;
1=141;

i

If,Line (l)==]1,6AS]1, Yes:
If,Line(2)==1,AS52, Yes:
If,Line{3)==1,AS3,Yes:
If,Line{d)==1,AS54, Yes:
If,Line(5)==1,A55,Yes:
Tf,Line{6)==1,AS6, Yes:
If,Line(7)==1,RS57, Yes:
If,Line(8)==1,ASB, Yes:
If,Line(9)==1,A59, Yes:
If,Line{lQ)==1,6AS10, Yen:
If,Line(ll)e==1,6AS1]l, Yes:
If,Line(l2)==1,A512, Yes:
Else, AS13, Yes;
Cap(l)=Cap(1l)~1:
AgvCtrlil, l)=AgvCtrl(l,2}:
AgvCtrl{l,3)=AgvCtrl(l,4):
AgvCtrl(l,5)=AgvCtrl(l,6):
AgvCtrl{l,2)=0:
AgvCtrlil,4)=0:

AgvCtrl(l, &)=0;

Line (4)=0;

g
If,Agvctrl{l,l)==15%,1515, Yes:
Else, 78§, Yes;

1,nqg(dummyset (12)} :aque (dummysat (12),J, 24 ==1;

A(24,antatrank (J, dummyset (12)})=0;
A(23,entatrank(J, dummyset(12)))=1;
0.000001:NEXT (Branchd};

1, nq{dummyset {agvctrl{l, 1))} raque {dumnyset (agvctrl(1l,1}),J,24) w=]l;

618 MOVE:
625 ASSIGN:
Branch4_1 BRANCH,
}}),63%, Yeas: L
638 ,//QOVE:
645 ASSIGN:
65§ MOVE:
1718 BRANCH,
67§ ASSIGN:
Loopld ASSIGN:
45% WHILE:
465 BRANCH,
478 FINDJ,
488 BRANCH,
494 REMOVE:
50% ASSIGN:
51§ EMDWHILE;
u9 BRANCH,
AS4 ASSIGN:
1508 BRANCH,
1518 FINDJ,
1528 ASSTIGN:
123% DELAY:
78% FINDJ,
798 ASSIGN:
AS5 ASSTGN:
1625 BRANCH,
1635 FINDJ,
1645 ASSIGN:
1258 DELAY:
a80s FINDJ,

A(24,entatrank (J, dummyset(agvetrl (1,1))))=0:

A(23,entatrank(J, dummyset{agvctrl(1,1)}})=1;:NEXT{1235);

Cap{l)=Cap(l)=1:
AgvCtrl(l,1)=AgvCtrl(l,2):
AgvCtrl{l,3)=AgvCtrl(l,4):
AgvCtrl{l,5)=AgvCtrl {1, 6):
AgvCtrl{l,2)=0:
AgvCtrl(l,q)=0:
AgvCtrl{l,6)=0:

Line (5)=0;

l:
If,Agvctrl(l,l)==15,6163%, Yey:
Else, 805, Yea:;

1,nq(dummyset {12) ) raque (dummyset {12),J, 24} ==1;

A(24,entatrank(J,dummyset (12})}=0:
A(23,entatrank{J, dummyset (12)))=1;
0.000001:NEXT (Exanchl};

;igq(dummyset(agvctrl(1,1))):aque(dummyaet(agvctrl(1,1)),J,24)--1;

AS6

ASSIGN:

AS3STGN:

A(24,entatrank(J,dummyset (agvetrl (1,1))) )=0:

A{23,entatrank({J, dummyset (agvctrl(l,1)}) )=1:NEXT(1255);

Cap(l)=Cap(1l)-1:
AguCtrl{l,2)=0:
AgvCtrl{l,4)=0:



1248 DELAY:
AS7T ASSIGN:
119% DELAY:
Branch2 BRANCH,
190% BRANCH,
96$% FREE!
88s BRANCH,
895 ASSIGN:
1598 BRANCH,
1608 FINDJ,
161$ RSSIGN:
1208 DELAY:
0% FINDJ,
1,ng{durmyset (agvcerl(l,1))):
91§ ASSIGN:
MV MOVE:
§7% BRANCH,
Branch20 BRANCH,
182% BRANCH,
1939 FREE:
1758 BRANCH,
1768 ASSIGN:
1798 BRANCH,
1805 FINDJ,
1815 ASSIGN:
1828 ALLOCATE,
177§ FINDJ,
1, ng{dummyset (agvctrl(l,1})):
1755 ASSIGN:
191$ FREE:
92§ BRANCH,

161

AgvCtrl(l,6)=01

Line{6)~0;
0.000001 :NEXT (Branch3d) ;
Cap(l)=Cap(l)-2:

agvcerl{l, l)=0:
AgVCtrl(l,3)=0:
AgvCtrl(l,5)=0:
AgvCtrl(l,2)=0:
AgvCtrl(l,4)=0:
AgvCtrl{l,6)=0:

Line(7)=0;

0.000001;:NEXT (Branch2);

1:
1f,AgvCtrl(l,1)<>0,1905,Yes:
Else,BB8§,Yes;

1:
If,Angt:l(l,Z)<>0,Branch4_2,¥as:
Else, 865, Yes;

agv(l) :NEXT (BRN) ;

1: .
1f,AgvCtrl(l,2)<>0,6%95,Yes:

Else, MV, Yas;

AgvCtrl(l,1)=agvetrl(l, 2):
AgvCtrl{l,3)=Agvctrl(l, 4):
AgvCtrl(l,5)«Agvetrl{l, 6):

Agvctrl(l,2)=0:

Agvectrl(l,4)=0:

Agvctrl(l, 6)=0;

1:

If,Agvctrl(l,1)==15,1605, Yes:

Else, 905, Yes;
1,nq(dummyeet(12)):aque(dummyset(lZ),J,24)--1;
A(24,entatrank (J, dummyset (12)))=0:
A(23,entatrank(J, dummyset (12)))=1;
0.000001:NEXT {Branchd) ¢

aque {dummyset (agvctrl(l,1}),J,24)==1;
A(24,entatrank({J, dummyset (agvctrl{l,1))}}=0:
A(23,entatrank{J, dummyset (agvetrl(l,1})})=1:NEXT(1208);
Agv(l) FIRSTX(Intx(DT{staging}});

1=

If,LT(agv,1l)==Int27, Branch20, Yes:

Else, 925, Yes;

1:

If,Agvctrl{l,1)<>0,192%,Yes:

Else, 175%, Yes;

fi

If,Agvctrl(l,2)<>0,Branchd_2,Yes:
Else,193%, Yes;

agv {1} ;NEXT (BRN];

1l:

If,Agvctrl(l,2)<>0,176%,Yes:

Else,191%, Yes;

AgvCtrl{l,l)=agvctrl(l,2):

AgvCtrl(l, 3)=Agvctrl(l, 4}:

AgvCtrl{l, 5)=Agvctrl(l,6):

Agvctrli{l,2)=0:

Agvetrl(l,4)=0:

Agvctrl(l, 6)=0;

1:

If,Agvctrl(l,l)==15,180%, Yes:

Else,1775,Yes;
1,ng{dummyset {12)} ;aque (dummyset {12),J,24) ==1;
A{24,entatrank(J, dummyset {12}) }=0:
A{23,entatrank(J,dummyset{12)))=1;
1:Agv{l},Agvctrl{l, 1) :NEXT(branchd);

aque (dummyset (agvctrl{(l,1}),J,24)==1;
A(24,entatrank{J, dummyset (agvctrl(1l,1)))}=0:
A(23,entatrank(J,dummyset (agvctrl(l,1)}})=1:NEXT(1825);
agv{l} :NEXT (Agvl):

1:

If,LT(agVv,1)==Intl,Branch2, Yes:
If,LT({agv,1)==Int2, BranchZ, Yes:
If,LT(agv,l)==Int3,Branch2, Yes:
If,LT(agv,1l)==Int4,Branch2, Yes:
If,LT(agv,1)==Int5,Branch2,Yes:
I1f,LT(Agv,1l)==Inté, Branch2, Yes:
If,LT{Agv,1l)==Int7,Branch2, Yes:
I1f,LT(Agv,1)==Int8,Branch2, Yes:
If,LT{Agv,1l)==Int%, Branch2, Yes:
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I€,LT{Agv,1l)==Int10,Branch, Yes:
1f,LT(Agv,l)==Intll,BranchZ,Yes:
1f,LT(Agv,1l)=w=Intl2,Branch2,Yes:
If,LT(AgV,1}==Int13,Branch2, Yes:
If,LT{Agv,1l)}==Int27,Branchg,Yes:
If,LT{AgVv,1)==Int28,Branch2, Yes:
Else,MV,Yes;
Agvctrl(l,l)=Agvctrl(l,2):
Agvctrl(l,2)=0:
Agvetrl{l,3)=agvcerl(l,4):
Agvctrl(l,d)=0:

Agvctrl{l, 5)=Agvctrl(l,6):
Agvctrl{l,6)=0:

cap{l)=Cap(l)=-1:

Line{B8)=0;

1:

1f,Agvctrl(l,1}==15,157§,Yes:
Else,76%,Yes;
l.nq(dummyset(IZ)):aque(dummyset(le,J,Zd)--l:
R{24,entatrank (J, dummyset (12)))=0:
A(23,entatrank{J, dummyset(12)))=1;
0.000001 : NEXT (Branch3) ;

1,nq(dummyset(agvctrl(1,1))):aque(dummyset(agvctrl(1,1)),J,Zﬁ)--l:

RA(24,entatrank(J, dummyset (agvetrl{l,1))))=0:
R(23,entatrank(J,dummyset {agvctrl(1,1))) ) =1:NEXT(114%);
Agvetrl (1l,2)=0:

Agvectrl(l,4)=0:

Agvctrl(l, 6)=0:

Cap(lj=Cap(l)~1:

Line(9)=0;

0.00000L1; NEXT (Branchl) ;

Cap{l}=Cap{l)-1:

AgvCtrl(l,1)=0:

RAgvCtrl{l,3}=0:

AgvCtrl(l,5)=0:

Line(10)=0;

¥

If,Agvctrlil,2)<>0,18485, Yes:

Else, 1215, Yes;

AgvCtrl{l,l)=RAgvCtrl(l,2):
AgvCtrl(l,3)=AgvCtrl(l,4):

AgvCtrl(l, 5)=AgvCtrl(l,6):

Agvctrli{l,2)=0:

Agvctrl(l, 4)=0:

Agvectrl{l, §}=0;

e

If,Agvctrl(l,1)==15,188%, Yes:

Else,1B55, Yes;
1,nq{dummyset{12)) iaque (dummyset (12),J, 24) ==1;
A(24,entatrank{J,dummyset {12}}}=0:
A{23,entatrank(J,dummyset {12} ))=1:NEXT (Branchd);

1,nq({dummyset {agvcerl{l,1l}}) raque (dummyset{agvctrl(l,1)),J,24)==1;

A{24,entatrank(J,dummyset (agvctrl(1l,1)}))=0:

R{23,entatrank (J, dummyset (agvctrl(l,1)) ) }=1l:NEXT{Branch4];

ASB RSSIGN:
1565 BRANCH,
157§ FINDJ,
1588 ASSIGN:
1148 DELAY:
765 FINDJ,
17§ RSSIGN:
ASY9 ASSIGN:
118§ DELAY:
AS10 RASIGN:
183% BRANCH,
184% ASSIGN:
1
1875 BRANCH,
1885 FINDJ,
1895 ASSIGN:
185% FINDJ,
1865 ASSIGN:
121% DELAY:
AS11 ASSIGN:
AS12 RSSIGN:
1178 DELAY:
AsSl3 ASSIGN:
1165 DELAY:
Station STATION,
217% ASSIGN:
AlmostFin BRANCH,

0.000001 :NEXT {Branche);
Cap(l}=Cap(l)~1l:
AgwCtrl(l,1}=0:
AgvCtrl(l, 3)=0:
AgvCtrl(l,5)=0:
Line(11)=0¢NEXT(Branch2)
Cap(li=Capi{l)~1;
AgvCtrl(l,2)=0:
AgvCrrl({l, 4)=0:
AgvCtrl(l,6)=0:
Line{l2)=0;
0.000001:NEXT (Branchd);
Cap(l)=Cap(l)~-l;
AgvCtrli{l,2)=0:
AgvCtrl(l,4)=0:
AgvCtrl(l, 6)=0:
Lina(13)=0;
0.000001:NEXT (Branchd) ;
DeptSet;

K1ll=0:

K12=0:

K21=0:

K22=0;

1;
If,NextMM1<>Deptl2,Al, Yes:



Al
2135

214%

2155
216$
Qin

1975

Bl
208%

Find
2095

210%

REM

Disp
Detach2
Detachl
Processing
Seize

205%
2065%
207%

Exit
2128
Qout
N_Sta

tal
2265
2245

225%

4975
2288
2298
3988
out
Delete

213§
2208
221%

223%
2225
BBB
OPT

1585%
198$
Rssignl

Else,tal,Yes;

ASSIGN: SetIndex=MemIdx (DeptSet,NextMMl);

BRANCH, 1:

If,ng{queueset {setindex)}==~2,2145, Yes:
Else,Qin, Yes/

BRANCH, 1: ’

If,nqg{queuenet (setindex+ll))==3,2155, Yes:
Else,Qin, Yes;

ASSIGN: lock(setindex)=1;

ASSIGN: LO=L0+1;

QUEUE, QueuaSet (SetIndex},3;

SEIZE, H
MachineSet (SetIndex),1:

BRANCH, 2
Always, 2085, Yes;

Always, Processing, Yes;

BRANCH, 1:
If,nq{BufferQ)<>0,Find,Yes:
Else,Diap, Yesn;

FINDJ, l,ng(bufferq):aque{butferg,j,2l)~=Nextmml;

BRANCH, 1:

If,J<»0,2108,Yes:
Else,Disp, Yes;

ASSIGN: Nextmml=Remenber;

REMOVE: J,BufferQ,Detach2 :NEXT (Disp):

PISPOSE; :

ASSIGN: Z0=Z0+1;

QUEUE, Q:DETACH;

DELAY: Cpt (2ndLlp):

SEIZE, 1;

BefQSet (setindex),1;

RELEASE: MachineSet (Setindex),1;

ASSIGN: 2ndLlp=2ndLp+l;

BRANCH, f ’
If,2ndLp>0Optnum, Exit, Yes;
Else,N_Sta, Yes;

ASSIGN: NextMMl=Member {DeptSet,12);

ASSIGN: 20=20+1;

QUEUE, QueueSet (SetIndex+1l),3:DETACH;

ASSIGN: Nex tiM=MM { 2ndip) :
NextMMl=Member {DeptSet, NextMM) :NEXT(212%) ;

TALLY: Flowtime, INT (Timedin),1;

ASSIGN: Lateness=Tnow-DueDate;

BRANCH, 1
If, Tnow>DueDate, 2255, Yes:
Else, 2275, Yes;

ASSIGN: Tardiness=Tnow~DueDate:
TardyJob=TardyJob+1:
Earliness=0;

TALLY: Tardyl,Tardiness,1;

TALLY: Late,Lateness,1;

TALLY: Tardy2, Tardiness,1;:

TALLY: Early2,Earliness,l;

ASSIGN: out=out+l:NEXT (Delete);

ASSIGN: ToTalOpt=0:

Nextmm=0;
Nextmml=0:
Duedate=0:
OptNum=0:
Lateness=(:
Tardinesa=0;
CptNo=0:
Earliness=~0;

ASSIGN: Del=];

WHILE: Del<=6;

ASSIGN: Opt{Del)=0:

MM{(Del)=C;

ASSIGN: Del=Del+l;

ENDWHILE:NEXT (BBB};

ASSIGHN: Bl=Bl+1;

ASSIGN: OptNum=Disc(0,33,4,0.66,5,1.00,6):
M=ENTER:
lstLp=1:
OptNo=Bl :MARK (Timedin)

WHILE: lstLp<=OptNum;

ASSIGN: Cpt (latLlp)=Expo(10);

ARSSIGN: MM(1StLp)=
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prsc(¢.091,1,0.192,2,0.273,3,0.364,4,0.455,5,0.545,6,0,636,7,0.727,6,0.818,9,0,909, 10,

1,11);
1995

BRANCH,

1:
If,15tLp<>l,Aasign2, Yes:



Else,Assignd, Yes;

CwlStLp;

233 I

1l:
If,MM(1StLp)<>MM({C~1),R83ign3, Yes:
Else,Assignl, Yes;

C=C-1;

TotalOpt=TotalOpt+0Opt (lstlp) !
1StLp=1StLp+l;

2ndLp=1:
DueDate~Timein+{14*ToTalopt);
NextMM=MM (2ndLp) :
NextMMl=Member (DeptSet, NextMM) ;
Z0wZ0+1;

AGVJue :DETACH;
NonTardy=HonTardy+1l:
Tardiness=0:
Earliness=Duedate-Tnow;
Earlyl,Earliness, 1:NEXT(228%);
1:
If,ng{queurset{agvetrl(1,4)))<3,67%,Yes:
Else,1445,Yes;

1:
If,Agvctrl{l,2)~=15,145%,Yes:
Else, 1075, Yes;

164

1,NQ(Dummyset {12} } : {Aque (Dummyset {12} ,J,24)==1);

A(Zl,entatrank{J, dummyset (12)) )=Agvetrlil, 4):

Agvctrl(l {jwBuffer;

1f£,IDSNET {AgvPath, LT (Agv, 1), DT(Angtrl(l 1)) <=IDSNET (AgvPath, LT (Agv, 1}, DT{AgvCtx1(l,4

Else,70%, Yes;
Agv{l),Agvctrl(l,l);
Agvectzl (1,5)=1:NEXT(Branch7);
1:

1f,IDSNET(AgvPath,LT(Agv,1),DT (AgvCtrl{l,3)))<=IDSNET (AgvPath,LT{Agv,1},DT{AgvCrzl(l,4

Else,245,Yes;
Agv(l) ,Agvctrl(l,3};
1-

I¢,Agvctrl(l,3)==12,98, Yes:

Else, 25§, Yes;

Line (8)=1:WEXT{Loopl);

1:

If,ngi{queueset {Agvctrl(l,3))1<3,9%, Yes:
Elase, 135%, Yes;

1:

If,hgvctrl(l,1)==15,1365,Yes:

Else, 1058, Yes;

1, NQ{Dummyset {12} ) : (Aque (Dummyset(12),J,23)=al);

A(21,entatrank(J,dummyset(12)))mAgvectrl (i, 3):

Agvctrl{l,3)=Buffer:NEXT(MBL);
Agv(l),buffer;
Line(7)~1:NEXT (Loop2};

1,NQ (Dummyset (agvetrl(l,1)}) : (Aque (Dummyset (Agvetrl (1,1)),J,23) ==1);

Agssign2 ASSIGN:
2008 WHILE:
2015 BRANCH,
Asaign3 ASSIGN:
202% ENDWHILE;
Ayaigné ASSIGN:
196§ ENDWHILE;
203% ASSIGN:
ToStart ASSIGN:
2115 ASSIGN:
Agvque QUEUE,
2275 RSSIGN:
4969 TALLY:
665 BRANCH,
1449 BRANCH,
145% FINDJ,
1465 ASSIGN:
Branchd_3 BRANCH,
13y, 6B%,Yes:

68§ MCVE:
£9% ASSIGN:
granch? BRANCH,
11} ,65,Yea:

6% MCVE:
1708 BRANCH,
9% RSSIGN:
258 BRANCH,
1358 BRANCH,
1368 FINDJ,
1373 ASSIGN:
MBL MOVE:
21% ASSIGN:
1058 FINDJ,
1068 ASSIGN:
245 MOVE:
268 ASSIGN:
Loop4 ASSIGN:
52% WHILE:
535 BRANCH,
54§ FINDJ,
55§ BRANCH,
568 REMOVE:
57% ASSIGN;
58% ENDWHILE;
ulo BRANCH,

B(2l,entatrank (J, dummyset {agvetrl{l,1} )} =hgw

Agvctrl (l,3)=Buffer:NEXT (MBl}:
Agv(l),Buffer;

Line(9)=1:NEKT {Loop4);

1=1;

1<=]3;

1:

If,NQ(Dummyset{1i))>0,545, Yes:

" Else,57%,Yes;

1 NQ(Dummyset(L)) rAgue (Dummyset (i}, J, 24)wml;

If J<»0, 568, Yes:
Else 515 Yes;
J,Dummyset!i),nuf!er;
imji+l;

1:

If,Line(l)==]1,A51, Yes:
If,Line(2)==1,AS82, Yes;
If,Line(3)=wl,AS3,Yes:
If,Line(d)==],R54,6 Yes:
If,Line(5)==1,A55, Yes:
If, Line(6)==1,A56,Yes:

ctrl{il,3):



l,nq(dummyset(aqvctrl(1.1))):aque(dummyset(aqvctrl(l,1)),J,24)--1:
A{24,entatrank(J, dummyset (agvctrl(l,1))})=0:

If,Line(7)==1,A57,Yes:
If,Line(8)==1,AS8,Yes:
If,Line(9}==1,A59, Yes:
If,Line(l0}==1,AS510,Yes:
If,Line({ll)==1,AS51],Yes:
If,Line(12)~=1,AS12, Yes:
Else,AS13, Yes;

Buffer;

Kll=0:

K12=0:

K21=0:

K22=0;

BufferQ:DETACH;
Agv(l),Agvctrlil, d};
Line {13)=1:NEXT (Loop4}:

(Aque(Dummyaet(Agvctrl(l,z)).J,24)--1):
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A(Zl,entatrank(J,dummyset(agvctrl(l,Z))))-agvctrl(l,4):

Agvctrl(l,4)=Buffer:NEXT (Branchd_3);
Agv(l),Firatx (Intx{DT(agvctrl(l,1)}});

1:

1f,Lt{Agv,1)==DT (Agvctrl(l,1}},10%,Yes:

Else,835,Yes;

Agvetrl (1,5)=1:NEXT (Branchl};

1:

If,LT(agv,1l)==Intl,Branchd,Yes:
I1f,LT{agv,l)==Int2,Branchd,Yes:
If,LT(agv,l)==Int3,Branch4,Yes;
1f,LT(agv,1l)==Int4,Branch4,Yes:
If,LT{agv,1)==Int5,Branchq,Yes:
If,LT{Agv,l)==Inté,Branchd,Yes:
If,LT(Agv,1l}==Int7, Branchd,Yea:
1f,LT(Agv,1l)==Int8,Branchd, Yes:
If,LT(Agv,1l)==Int9,Branch4,Yes:
If,LT(Agv,l)=»Intl0,Branch4, Yes:
1f,LT(Agv,l)==Intll, Branchd, Yes:
If,LT(AgVv,1)==Intl2,Branchd,Yes:
If,LT{Agv,1)==Intl3,Branch4, Yes:
If,LT{agv,l)==Int27,Branch4,Yes:
If,LT{Agv,1l)==Int28,Branchdi,Yes:

Else,Ml, Yes;

A(23,entatrank(J, dummyset{agvctrl(1,1))})=1:NEXT{1225);

Agvi(l),Agvctrl{l.2);
Agvetrl{l,6)m=l;
13

If,IDSNET(Aquath,LT(Agv,l),DT(Angtrl(l,B)))<-IDSNET(AgvPath,LT(Agv,1),DT(Angtrl(l,4

1,NQ{Dummyset (agvectrl(l,2))): (Aque (Dummyset (Agvctrl (1,2)),J,24)==1)};

Buffer STATION,
218§% ASSIGN:
204% QUEUE,
708 MOVE:
718 ASSIGN:
107% 'FINDJ,
1,NQ{Dummyset (agvctrl(l,2})}:
1085 ASBIGN:
Ml MOVE!
828 BRANCH,
10% ASSIGN:
B3§ BRANCH,
72§ FINDJ,
738 ASSIGN:
145 MOVE:
158 ASSIGN:
Branchll BRANCH,
1Y) ,16%,Yes:

168 MOVE:
17% ASSIGN:
18$% MOVE:
1668 BRANCH,
198 ASSIGN:
208 BRANCH,
138§ BRANCH,
1395 FINDJ,
140$% BRSSIGN:
109$ FINDJ,
110% ASSIGN:
1728 MOVE:
1748 BRANCH,
308 ASSIGN:
173% BRANCH,

Else, 185, Yes;
Agv(l),RAgvectrl(l,3};
Line{5)=1:NEXT (Loop2);
Agv(l),Agvctrl(l,4}:
1:

If,Agvctrl(l,4)==12,195, Yes:

Else, 20§, Yes;
Line (6)=1:NEXT (Loocp3)
1:

If,nqg(queueset (Agvctrl(l,4))}<3,19§,Yes:

Else, 1385, Yes:
1:

If,Agvctrl(l,2)==15,1395,Yes;

Else, 109§, Yes;

1,NQ{Dummyset {12} ) : (Aque (Dummyset (12),J,24) ==1) ;
A(21,entatrank{J,dummyset (12))}=Agvctrl(l,4):
Agvctrl(l,4)=Buffer :NEXT(MEl);

A(21,entatrank{J,durmyset (agvctrl{l,2))))=agvctrl{l, 4):

Agvctrl(l, 4)=Buffer:NEXT (MB1};
Agv{l),Firstx (Intx (DT {Agvctrl{l,3)}}):

1:

If,Lt(Agv,1)==DT(Rgvctrl(1l,3)),30%,Yes:

Else, 1735, Yes;
Line{11)=1:NEXT (Loop2};
1:

If,LT{agv,l)==Intl,Branch3l,Yes:
If,LT{agv,l)==Int2,Branch3, Yes:
If,LT{agv,1)==Int3,Branch3l,Yes:
If,LT{agv,1)==Int4,Branch3, Yes:
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If,LT{agv,l)~=Int5,Branch3, Yes:

If,LT(Agv,1l}==Int6,Branch3, Yes:

I1f,LT{Agv,1l}==Int7,Branch3, Yes:

If,LT{Agv,1}==Int6,Branchl, Yes:

If,LT{AgV,1)==Int9,Rranchl,Yes:

If,LT(Agv,1)==Intl0,Branchl, Yes:
If,LT(Agv,1)==Intll,Branch3,Yes:
If,LT(Agv,1i==Intl2,Branchd, Yes;
If,LT(Rgv,l)==Intl3,Branch3, Yes:
If,LT{Agv,l)==Int27,Bxanch3, Yes:
I¢,LT(Rgv,l)=~Int28,Branch3, Yes:
Else, 1725, Yes;

99% FINDJ, .

1,RQ (Durmyset (agvctrk{l,1)}) : (Aque {Dummyset (agvctrl{l,1}),J,23}==1};

1004 ASSIGN: A{21,entatrank(J,dummyset {agvctrl(l,1}}))=Agvctrlil,3}:
Agvctrl(l,3}=Buffer:NEXT (Branch3);

85% BRANCH, 1:
If,LT(agv,1l)==Intl,Branchl,Yes:
I1f,LT(agv,l)==Int2,Branchl,Yes:
If,LT(agv,l)==Int3,Branchl, Yes:
If,LT(agv,l)==Int4,Branchl,Yes:
If,LT(agv,l}==Int5,Branchl,Yes:
If,LT(Agv,;1)==Inté,Branchl, Yes:
If,LT{Agv,l)==Int7,Branchl, Yes:
If,LT(Agv,1l)==IntB,Branchl, Yes:
If,LT{Agv,1l)==Int%,Branchl, Yes:
I1f,LT(Agv,1)==Intl0,Branchl,Yes:
If,LT{Agv,l}==Intll,Branchl,Yeas:
If,LT(Agv,1l)==Intl2,Branchl, Yes:
If,LT{Agv,1)==Intl3,Branchl, Yes:
If,LT(Agv,1l)==Int27,Branchl, Yes:
If,LT(Agv,1)==Int28,Branchl, Yes:
Else,27%,Yes;

748 FINDJ,

1,nq{dummyset (agvctrl(l,1})}:aque (dummyset (agvcerli{l, 1)},J,24)==1;

75% ASSIGN! A(24,entatrank(J,dummyset{agvctrl{l,1)}))=0D:
A(23,entatrank(J, dummyset{agvctrl{l,1)}))=1:NEXT(1155);

22% BRANCH, 1:
If,ng({queuneset (Agvctrl{l,3})1)<3,23%,Yes:
Else,132%, Yes;

"132% BRANCH, 1:
If,Agvctrl(l,1)==15,133%, Yes:
Else,103%,Yes;

133§ FIKDJ, 1,80 (Dummyset (12} ) ¢ {Aque (Dummyset(12),J,23)==1};

124% ASSIGN: A{2]l,entatrank(J,dummyset(12}))=Agvctrl(l,3):
Agvctrl{l,3)=Buffer:NEXT(Branchll);

103% FINDJ,

1,NQ(Dummyset{agvctrl(l,1))): {Ague (Dummyset{agvctrl(l,1)},J,23)==1);

104§ ASSIGN: Ai{2l,entatrank{J, dummyset {agvctrl{l,1))))=Agvctrl(l,3):
Agvectrl(l,3)=Buffer:NEXT(Branchll);

MB2 MOVE: Agv{l), Agvetrl(l,d);

1695 BRANCH, g
If,Agvctrl(l,4)==12, 685, Yes:
Else,55,Yes;

8$ ASSIGN: Line (2)=1:NEXT (Loop3):

5% BRANCH, 1:
If,nq{queueset (Agvctrl{l,4))})<3,8S, Yes:
Else, 126%,Yes;

1265 BRANCH, 1:
If,Agvctrl(l,2)==15,1275, Yesa:
Else, 1115, Yes;

127§ FINDJ, 1,NQ{Dummyset{12)}: (Aque{Dummyset (12),J,24)==1);

128$ ASSIGN: A{21,entatrank(J, dummyset{12)))=Agvctrl{l,4}:
Agvctrl{l,4)=Buffer:NEXT(Branch7);

1118 FINDJ,

1,NQ(Dummyset (agvctrl(l,2))): (Ague (Dummyset {Agvctrl(l,2}),J,24)==1};

112% ASSIGN: A(2]1,entatrank(J,dummyset (agvctrl(l,2))) )=Agvctrl(l, 4):
Agvertrl{l,4)=Buffer:NEXT{Branch7);

KE © MOVE: Agvi{l), Agvctrl{l,3);

167% BRANCH, l:
If,Agvctrlk(l,3)mwml2, 75, Yey:
Else,11%, Yes;

18 ASSIGN: Ling{3)-1:NEXT(Loop11:

11§ BRANCH, 1:
If,nq{queueset {Agvctrl(l,3})))<3,75,Yes:
Else, 1415, Yes;

141% BRANCH, 1:
If, Agvetrl(l,l)==15,1425, Yes:
Else, 1015, Yes;

142% FINDJ, 1,NQ(Dummyset{12)): (Aque (Dummyset (12),J,23)==~1);
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143§ ASSIGN: A(21,entatrank{J,dummyset(12}))=Agvctrl(l,3):

agvctrl(l,3}=Buffer:NEXT (Branch8);

1018 FINDJ,

1,NQ (Dummyset {agvctrl(l,1})): (Aque {Dummyset {Agvctrl(l,1)},J,23)==1};

102% ASSIGN: A(21,entatrank{J, dummyset (agvctrl{l,1}))}=agvctrl(l,3}:
Agvctrl{l,3)=Buffer: NEXT (Branch8);

948 ALLOCATE, 1l:agv{l),agvctrl{l,2);

958 MOVE: Agvi(l},Agvctrlil,2);

9685 ASSIGN: Agvetrl(l, 6)=1:NEXT{Branch4_l);

Allol ALLOCATE, 1:Agv(l},agvctrl(l,1) :NEXT (M1);

agv2 QUEUE, AGV2;

P23 SCAN: AgvCtrli{2,1)<>0;

2318 DELAY: 0.000001;

BRN2 BRANCH, 1:
I1f,Agvctrl(2,2)<>0,Pickz, Yes:
Else,AllolQl, Yes;

Pick2 BRANCH, 1:

I1f, IDENET (AgvPath, LT (Agv,2), DT (AgvCtrl{2,1}))<=IDSNET (AgvPath, LT (Agv, 2) ,DT (AgvCtrl iz, 2
})),P27,Yes:
El=a, P30, Yes;

P27 ALLOCATE, l:agv(2),agvctrl(2,1);

P28 MOVE: Agv(2),Agvctrl(2,1);

P2% ASSIGN: Agvetrl(2,5)=1:NEXT (Branchl05);
Branchl(05 BRANCH, R

If, IDSNET (AgvPath,LT(Agv,2), DT (AgvCtrl(2,2)))<=IDSNET (AgvPath, LT (Agv,2), DT {AgvCtrl(2,3
Y)1,P36,Yes:
Else, P30, Yes;

P36 MOVE: Agvi2),Agvectrl(2,2);
P37 ASSIGN: Agvctrl(Z 6)=1;
BranchlQ6 BRANCH, 1l:

If,IDSNET (AgvPath, LT(Agv,Z) DT(Angtrl(Z 3)))<-IDSNET(AgvPath LT (Agv, 2}, DT (AgvCtrl (2,4
1)), P38, Yes:

Else,MB102,Yes;

P38 MOVE: Agv(2),Agvctrl(2,3);

p39 BRANCH, 1:
If,Agvctrl(2,3}==12,P41, Yes:

. Else, P40, Yes;

P41 ASSIGN: Line (14)=1:MEXT (LooplOl):

LooplCl ASSIGN: iwl;

Ll WHILE: 1<=13;

L2 BRANCH, 1:
If,NQ{Dummyset(i)}>0,L3, Yes:
Else,L6,Yen;

L3 FINDJ, 1,NQ{Dummyset (1)} :Aque (Dummyset{i)},J,25)==1;

L4 BRANCH, 1:
If,J<»0,L5,Yen:
Else,L6,Yes;

L5 REMOVE: J, Dummyset (1) ,atation;

L& ASSIGN: 1=1+1;

L7 ENDWHILE;

ulo? BRANCH, ke

If,Line(l4)==]1,6RAS514, Yes:
If,Line(15)==1,RS15,Yes:
If,Line({l6}==]1,AS16,Yes:
If,Line{l7)==l,AS17,Yes:
If,Line(l8)~=1,A518,Yen:
If,Line{l19)==1,RAS1%, Yes:
If,Line{20)==1,AS20,Yes:
If,Line(21)=m]l, AS2]1,Yes:
If,Line(22)==1,AS822,Yes:
If,Line(23)==1,RS523,Yes:

- If,Line(24)w==1,R524, Yes:
If,Line(25)==]1,AS525,Yes:
Else,AS26,Yes;

AS14 ASSIGN: Cap{2)=Cap(2)=1:
AgvCtrl(2,1)=AgvCtrl(2,2):
AgvCtrl(2,3)=AgvCtrl(2,4):
AgvCtrl(2,5)=AgvCtrl({2,6):
AgvCtrl(2,2)=0:
AgvCtrl(2,4)=0:
AgvCtrl(2,6)=0:
Line(14)=0;

P47 BRANCH, 1:
If,Agvctrl(2,1l)==15,P48,Yes:
Else, P49, Yas;

P48 FINDJ, 1,nqg{dummyset (12)): aque(dummyset(lZ) J,26)mm];

P50 ASSIGN: A(26,entatrank(J,dummyset(12)))~0~
A(25,entatrank(J, qummyset (12)))=1;

P52 DELAY: 0,.000001:NEXT (Branchl0l);

BranchlQl BRANCH, 1l:
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1f,AgvCtrl(2,2)<>0,Branchl05,Yes:

Else, P105, Yes;

P105% MOVE: Agv(2),Firstx (Intx (DT (Agvctrl(2,3)}))}

Pl06 BRANCH, 1:
If.Lt(Agv,2)--DT(Agvctrl(2,3)),PlOG,Yes:
Else,Pl07,Yes;

Pl08 BRANCH, 1:
If,Agvctrl(2,3)==12,P109,Yes:
Else,Pl110,Yes;

P109 ASSIGN: Line(23)=1:NEXT (LooplQl};

Pl10 BRANCH, 1;
If, ngl{queueset (Agvctrl{2,3}))<3,P109, Yes:
Else,Pll1,Yes;

Plll BRANCH, 1:

If,Agvctrl(2,1)=~15,Pl13,Yes:
Else,Pll2,Yes;

P113 FINDJ, 1, NQ{Dummyset (12) ) : (Aque {Dummyset (12),J,25)==1};
pll4 ASSIGN: A(21, entatzrank(J,dummyset (12}))=Agvetrl(2,3):
Agvctrl(2,3)=Buffer;
Branchl03 BRANCH, 1
If,AgvCtrl(2,2)<>0,Branchl(8, Yes:
Else,Pl18,Yes:;
BranchlOg 'BRANCH, 1:

I1f, IDSNET (AgvPath,LT (Agv,2),DT{AgvCtrl(2,3)})<=IDSNET (AgvPath,LT(Agv,2},DT{AgvCtrl (2,2

Y1) ,P95,Yes:
Else,Pl6l, Yes; .

P95 MOVE: Agv(2),Agvetrl(2,3});

P96 ASSIGN: Line(17)=1;:NEXT (Loopl02}

Loopl02 ASSIGN: i=1;

LB WHILE: 1<m13;

LS BRANCH, 1"

If,NQ{Dummyset{i))>0,L1l0,Yes:
Else,Ll3, Yes;

Ll0 FINDJ, 1,NQ (Dummyset (i} ) :Aque (Dummyset (i), J,25) wnl;

L1l BRANCH, 1:

If,J<>0,Ll12,Yes:

Else,Ll3, Yes;

‘L12 REMOVE: J, Dummyset (i) ,Buffer;

L13 RASSIGN: i=i+l;

Ll4 ENDWHILE;

ulls BRANCH, 1:
If,Line{l4)==1,AS514, Yes:
If,Line{l5)=ml, RS15, Yes:
If,Line{l6)==1, AS16, Yes:
If,Line{l7)==1,6A817, Yes:
If,Line{18)==1,RAS18, Yes:
If,Line(19)==1,AS19, Yes:
If,Line{20)==1,LO0P104, Yes:
If,Line{21)==1,A521, Yes:
If,Line(22)==1,AS22,Yes:
If,Line(23)==1,A523, Yes:
If,Line(24)==1, AS24, Yes!:
If,Line(25)==l, AS25, Yes:
Else,AS26,Yes:

AS15 ASSIGN: Agvctrl(2,2)=0:
Agvctrl(2,4)=0:
Agvctrl(2,6)=0:
Cap(2)=Cap(2)=1:
Line{15)=0;
P56 DELAY: 0.000001:NEXT (BranchlQ1);
AS1lE BASSIGN: Cap(2)=Cap(2)~1:
AgvCtrl(2,1)=AgvCtrl(2,2):
AgvCtrl (2, 3}=RgvCtrl(2,4):
AgvCtrl(2,5)=AgvCtrl(2,6):
AgvCtrli(2,2)=0:
AgvCtrl(2,4)=0:
AgvCtrl(2,6)=0:
Line (16)=0;
P84 BRANCH, 1:
If,Agvctrl(2,1)==15,PBS, Yes:
Else,PB7,Yes;
P85S FINDJ, 1,nq{dummyset{12)) :aque (dummyset (12),J,26)==1;
P86 ASSIGN: A({26,entatrank(J, dummyset(12)))m0:
. A(25,entatrank(J, dummyset(12})})=1;
PBY DELAY: 0.000001:NEXT {(Branchl04}:
Branchl04 BRANCH, 1: )
If,Agvctrl(2,2)<>0,BranchlQ4_2,Yes:
Else,M101, Yes; - :
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Branchl(4_2 BRANCH, 1:
If, IDSNET(AgvPath LT {Agv, 2}, DT {AgvCtrl(2,1)))<=IDSNET (AgvPath, LT (Agv,2),DT(AgvCtrl (2,2
1Y), Pl,Yes:

Else,P3, Yes;
Pl MOVE Agv{2),Agvctrl{2, 1};
P2 ASSIGN: Agvetrl{2,5)=1:NEXT (Branchl05);
P3 MOVE: ’ Agv(2),Agvetrl(2,2);
P4 ASSIGN: Agvctrl{2,6)=1;
BranchlQ4_1 BRANCH, 1:

1€, IDSNET (AgvPath,LT (Agv,2},DT (AgvCtrl (2,1})) <=IDSKET {AgvPath,LT (Agv, 2),0T{AgvCtrliZ, 4

1Y) ,P5, Yes:
Else, P7,Yes;

| E] MCVE; Agv(2),Agvctrli2, 1);

P6 RSSIGN: Agvetrl (2, S)w1:NEXT (BranchlO€);

- MOVE: agv{2),Agvetrl(2,4);

P8 BRANCH, 1:
1f,Agvctrl{2,4)==12,P9,Yes:
Else,Pl], Yes;

P9 ASSIGN: Line{25)=1:NEXT{Loopl03);

Loopl03 RSSIGN: iwl;

L15 WHILE: 1<=13;

L16 BRANCH, 1:
If,NQ{Dummyset({l))>0,L17, Yes:
Flse,L20,Yes;

Li7 FINDJ, 1, NQ{bummyset (1)) ;Aque (Dummyset{1i},J, 26) ==l;

L8 BRANCH, Ay
If,J<>0,L19,Yes;
Else, L20, Yes;

L19 REMOVE: J,Dummyset {i1),station;

L2090 ASSIGN: - l=i+l;

L21 ENDWHILE;

ulQs BRANCH, 1:
If,Line({l4)==1,A514,Yes:
If,Line{l5)==1,A515, Yes:
If,Line(16)==1,AS16, Yes:
If,Line(l7}==1,AS17, Yes:
If,Line(18)==1,AS18, Yes:
If,Line(19)==1,AS19, Yes:
If,Line{20}==1,A3820,Yes:
If,Line({21)==1,A821, Yes:
If,Line(22)==1,A522,Yes:
If,Line(23)==1,A5823, Yes!
If,Line{24)==1,A524,Yes:
If,Line{25)==1,A825,Yes:
Else,AS526, Yes;

AsSl? ASSIGN: Cap({2)mCap(2}-1:
AgvCkrl{2,1)=AgvCtrl(2,2):
AgvCtrl(2,3)=AgvCtrl(2,4;}:
AgvCtrl (2, 5)=AgvCtrl(2,6):
AgvCtrl(2,2)=0:
AgvCtrl(2,4)=0:
AgvCtrl{2,6)=0:
Line (17])=0;

pav BRANCH, 1:
If,Agvctrl(2,1)==15,P98, Yes:
Else,P101,Yes;

P98 FINDJ, 1,ng{dummyset {12} } :aque (dummyset (12),J,26) =w=l;

P99 RSSIGN: A({26,entatrank{J, dummyset (12)))=0:
A{25,entatrank{J, dummyset{12}))wl;

Pl00 . DELAY ; 0.000001:NEXT (BranchlOd4);

P101 FINDJ,

1,ng(dummyset (agvctrl{2,1)}): aque(dummyset(agvctrl(z 1)) ,J,26)==1;

P102 ASSIGN: A(26,entatrank{J,dummyset{agvctrl(2,1)]})=0;
A(25,entatrank (J, dummyset (agvctrl(2,1))})=1:NEXT{P100};

AS18 ASSIGN: Cap(2)=cap{2)=1:
AgvCtrl(2,1)=AgvCtrl(2,2):
AgvCtrl (2, 3)=AgvCtrl{2,4):
AgvCtrl(2,5)=hAgvCtrl(2,6}:
AgvCtrl{2,2)=0:
AgvCtrl(2,4)=0:
AgvCtrl(2,6)=0:
Line(18)=0;

P165 BRAKCH, 1:
If,Agvctrl(2,l)==15,P166,Yes:
Else,P169, Yes;

P166 FINDJ, 1,nq{dummysat (12} ) raque {dummyset {12} ,J,26) ~w=l;

P167 ASSIGN: R{26,entatrank{J,dummyset{12})})=0:
A{25,entatrank{J, dummyset{12)})=]1;

P168 DELAY: 0.000001:NEXT {Branchl0l);

pl69 FINDJ,

1,ng{dummyset (agvetrl(2,1))} :aque (dunnmyset {agvctrl(2,1)),J,26) ==1;
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A(26,entatrank {J,dummyset (agvetrl(2,1)})) ) =0:
A{25%,entatrank{J, dummyset {agvctrl{2,1})}))=1:NEXT (P168);
Cap{2)=Capi{2)=-1:

AgvCtrli{2,2)=0:

AgvCtrl{2,4)=0:

AgvCtrl(Z,6)=0;

Line(19)=0;
0.000001 :NEXT (Branchl03);
Cap(2)wCap(2)-2: )
AgvCtrl(2,1)=0:

AgvCtrl(2,3)=0:

AgvCtri{2,5)=0:

AgvCtrl{(2,2)=0:

AgvCEtrl(2,4)=0:

AgvCtrl{(2,6)=0:

Line(20)=0;
0.000001 :NEXT {Branchl02};

1:

If,AgvCtrl{2,1)<>0,P122,Yes:
Else,P126, Yes;

1:
If,AgvCtrl(2,2)<>0,Branchl04_2,Yes:
Else,P125,Yes;

agv{2) :NEXT (BRNZ) ;

1:

If,AgqvCtrl(2,2)<>0,P127,Yes:
Else,MVZ, Yes;

AgvCtrl (2,1)=agvctrl(2,2):

AgvCtrl (2,3)=Agvctrl(2,4):
AgvCtrl(2,5)=Agvctrl(2,6):

Agvcetrl (2,2)=0:

Agvctrl(2,4)=0:

Agvctrl(2,6)=0;

1:

If,Rgvctrl({2,1}==15,6P129, Yes:
Else,P130, Yes;
1,ng{dummyset{12)} taque (dummyset(12),J,26)==1;
A{26,entatrank(J,dummyset(12}))=0:
A{25,entatrank (J, dummyset (12})) )=1;
0.000001:NEXT (Branchl04);

l,nq(dummyset(agvctrl(z,l))):aque(dummyset(agvctrl(2,1)).J{ZS)--l;

A(26,entatrank (J, dummyset {agvctrl(2,1})))=0:
A(25,entatrank (J, dummyset(agvctrl(2,1})) )=1:NEXT (P133);
Agv(2),FIRSTX({Intx{DT (staging)}};

1l:

If,LT{agv,2)==Int27,Branchl20, Yes:
Else,P137, Yes;

1l:

If,Agvetrl{2,1}<>0,P1l38,Yes;

Else, P142, Yas;

1:

If,Agvctrl(2,2}<>0,Branchl04_2, Yes:

Else, P141,Yes;

agv(2) iNEXT(BRNZ2) ;

1:

If,Agvetrl(2,2)<>0,P1l43,Yes:

Else, P151, Yes;

AgvCtrl(2,1l}m=agvctrl{2,2):
AgvCtrl(2,3}=Agvctrl(2,4):
AgvCtrl(2,5)}=Agvctrl(2,6):

Agvctrl(2,2)=0: -

Agvctrl(2,4)=0:

Agvetrl (2, 6)=0;

1:

If,Agvctrl(2,1)==15,P145, Yes:

Else,P147, Yes;
1,ng{dummyset (12}) :aque (dummyset {(12),J,26}==1;
A(26,entatrank (J,dummyset (12)} )=0:
A(25,entatrank{J,dummyset (12)})=1;
1:Agv(2),Agvctrl{2,1) :NEXT(branchl4);

1,ng{dummyset (agvctrl{(2,1})) :aque (dummyset {(agvctrl{2,1}),J,26)==l;

P170 ASSIGN:
AS19 ASSIGN:
P174 DELAY:
As20 ASSIGN:
P1682 DELAY:
Branchl02 BRANCH,
P122 BRANCH,
P125 FREE:
Pl26 BRANCH,
P127 ASSIGN:
Pl28 BRANCH,
P1l29 FINDJ,
P13l ASSIGN:
P133 DELAY !
P130 FINDJ,
Pl32 ASSIGN:
MV2 MOVE:
Pl36 BRANCH,
Branchl20 BRANCH,
P138 BRANCH,
Pl41 FREE:
Pl42 BRANCH,
P143 ASSIGN:
Pl44 BRANCH,
P145 FINDJ,
Pl46 ASSIGN:
Pl49 ALLOCATE,
Pl4? FINDJ,
P148 ASSIGN:
P151 FREE:
P137 BRANCH,

A{26,entatrank(J, dummyset (agvctrl(2,1)))}=0:
A(25,entatrank{J, dummnyset (agvctrl(2,1))) ) =1:NEXT(F149);
agv ({2} :NEXT {(Agv2);

1: i
If,LT{agv,2)==Intl,Rranchl02, Yes:
If,LT(agv,2)==Int2,Branchl02, Yes:
If,LT(agv,2)==Int3,Branchl02, Yes:
If,LT{agv,2)==Int4,3ranchl02, Yes:



If,LT{agv,2)»=Int5,Branchl02, Yes:
If,LT(Agv,2)==Int6,Branchl02, Yes:
If,LT{(Agv,2)w=Int7,Branchl02, Yes:
If,LT{Agv,2)==Int8,Branchl02, Yas:
If,LT(Agv,2)==Int9, Branchl02,Yes:
If,LT(Agv,2})==Intl0,Branchl02, Yes:
If,LT(Agv,2)==Intll,Branchl02, Yes:
If,LT(Agv,2)==Int12,Branchl02, Yes:
If,LT(Agv,2)==Intl3,Branchl02, Yes:
If,LT{Agv,2)==Int27,Branchl02, Yes:
If,LT{AgVv,2)==Int28,Branchl02, Yes:
Else,MV2, Yes;
Agvctrl(2,1l)=Agvectrl(2,2):
Agvetrli2,2)=0:
Agvctrl(2,3)=Agvetrl(2,4):
Agvctrl(2,4)=0:
Agvctrl(2,5)=Agvctrl(2,6):
Agvetrl {2, 6)=0:

Cap{2)=Cap(2)-1:

Line (21}=0;

1:

If,Agvctrl(2,1)==15,P75,Yes;
Else,p76, Yes;

1, ng(dummyset (12} ) :aque (durmyset (12),J,26) ==1;
A(26,entatrank{J, dummyset (12)})=0:
A(25,entatrank (J,dummyset (12) ) ) =1;
0.000001 :NEXT (BxanchlQ3);

1,ng(dummyset {agvctrl({2,1)}) :aque {dummyset (agvctrl (2,1)),J,26) ==1;

A{26,entatrank(J,dummyset (agvetrl (2,1))))=0:
A(25,entatrank{J, dummyset (agvctrl(2,1)}))=1:NEXT(P79);
Agvetrl(2,2)=0:

Agvetrl(2,4)=0:

Agvctrl(2,6}=0:

Cap (2)=Cap(2)-1:

Line(22)=0;

0.000001:NEXT {Branchl01l};

Cap(2)=Cap{2)-1:

AgvCtrl(2,1)=0:

AgvCtrl(2,3)=0:

AgvCtxl(2,5}=0:

Line(23)=0;

1l:

If,Agvcerl(2,2)1<>0,P155,Yes;

Else,P154, Yes;

AgvCerxl(2,1l)=AgvCtrl(2,2):
AgvCtrli{2,3)=AgvCtrl(2,4):
AgvCerl{2,5)=AgvCtrl(2,6):

Agveerl{z,2)=0:

Agvetrl(2,4)=0:

Agvctrl{2, 6)=0;

1:

If,Agvctrl(2,l)=s=]l5,P157,Yes:;

Else,Pl159, Yes;

1, nqg(dummyset (12} } :aque (dummyset {(12) ,J,26) ==1;
A{26,entatrank(J,dummyset(12)))=0:
A{25,entatrank(J,dummyset(12}))=1:NEXT{(Branchl04);

1,ng(dummyset (agvetrl(2,1))) aque{dummyset {agvetrl{2,1)),J,26) w=l;

A(26,entarrank(J, dummyset (agvctrl(2,1}))}=0:

A(25,entatrank{J, dummyset {agvctrl(2,1)}))=1:NEXT (BranchlQ4);

AS21 ASSIGN:
P74 BRANCH,
P75 FINDJ,
P77 ASSIGN:
P79 DELAY:
p76 FINDJ,
P78 ASSIGN:
AS22 ASSIGN:
P65 DELAY:
AS23 ASSIGN:
P153 BRANCH,
P155 ASSIGN:
Pl56 BRANCH,
P157 FINDJ,
P158 ASSIGN:
P159 FINDJ,
P160 ASSIGN:
P1l54 DELAY:
RS24 ASSIGN:
RS25 ASSIGN!
P10 DELAY:
AS26 ASSIGN:
p22 DELAY:
Pll BRANCH,

0.000001:NEXT {Branchl02} ;
Cap(2)=Cap(2)-1:
AgvCtrl(2,1)=0:
AgvCtrli{2,3)=0;
AgvCtxl(2,5)=0;

Line (24)=0:NEXT (Branchl(2);
Cap(2)=Cap(2)~1:
AgvCtrl(2,2)=0:
AgvCtrli2,4)=0:
AgvCtrl(2, 6)=0:

Line (25)=0;

0.000001:NEXT (Branchl04);
Cap(2)=Cap(2)-1:
AgvCtxl(2,2)=0:
AgvCtrl(2,4)=0:
AgvCtrl{2,6)=0;:
Line(26}=0;

0.000001:NEXT (Branchl(4);
1l:

171
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If,nq{queueset{agvctrl(2,4))}<3, P9, Yes:
Elge,Pl2,Yes; .

P12 BRANCH, 1:

If,Agvetrl(2,2)==15,P13,Yes:

Else, P15,Yes; '

P13 FINDJ, 1, NQ{Dummyset (12) ) : (Aque (Dummyset (12} ,J,26)==1});

Pl4 RSSIGN: A(21,entatrank(J,dummyset{12)))}=Agvctrl (2,4):
Agvctrli{2, 4)=Buffer;

BranchlQ4 3 BRANCH, 1:

If,IDSNETTAgVPath,LT(Agv,2),DT(Angtrl(Z,l)))<-IDSNET(AgvPath,LT(Agv,2),DT(Angtr1{2,4
y}),Pl8,Yes: -
Else, P20, Yes;

P18 MOVE: Agv(2),Agvctrli{2, l);
Pl9 ASSIGN: Agvctrl(2,5)=1;NEXT (Branchl07};
BranchlQ7 BRANCH, 1:

If,IDSNET(AgvPath,LT(Rgv,Z),DT(Angtrl(2,3)))<-IDSNET(AgvPath,LT(Agv,z),DT(Angtrl(z,ﬂ
})),P62,Yesn:

Elsé,P6d,Yes;
P62 MOVE; Agv(2),Agvctrl{2,3):
P66 BRANCH, 1:

If,Agvctrl(2,3)==12,P67,Yes:
Elsa, P68, Yes;
P67 ASSIGN; Line (21} =1:NEXT (Loopl0Ol);
P68 BRANCH, 10
1f,ng(queuesat (Agvctrl(2,3}))<3,P67,Yes:
Else, P69, Yes;

P69 BRANCH, T
If,Agvctrl{2,1)==15,P7C,Yes:
Else, P72, Yes;

P70 FINDJ, 1,NQ (Dummyset{12) ) : (Ague (Dummyset{(12),J,25)==1};

P71 ASSIGN: A(21,entatrank{J, dummyset{12)))=Agvctrl(2,3}:
Agvetrl (2,3)=Buffer:NEXT (MB101},

MB1C1 MOVE: Agvi(2),butfer;

P181 RSSIGN: Line(20)=1:NEXT {LocoplQ02};

P72 FINDJ,

1,NQ (Dummyset {agvetrl{2,1))) : (Aque {Dummyset (Agvetrl(2,1})},J,25)==1);

P73 ASSIGN: B{2l,entatrank(J, dummyset (agvctrl({2,1))))=Agvctrl({2,3):
Agvetrl{2,3)=Buffer:NEXT(M8101);

P63 MQVE: Agv(2) ,Buffer;

pé64 ASSIGN: Line {22)=1:NEXT (Loopl04);

Loopl04 ASSIGN: lwl;

L22 WHILE: 1<=13;

L23 BRANCH, 1:

If,NQ(Dummyset{i)}>0,L24, Yes:
Else,L27,Yes;

L24 FINDJ, ‘ 1,NQ{Dummyset{li}} :Aque {Dummyset(1),J,26)==1;
L25 BRANCH, Lo
If,J<>0,L26,Yes:
Else,L27, Yes;
L26 REMOVE: J,Dummyset {1}, Buffer;
L27. ASSIGN: 1=1i+1;
L28e ENDWHILE;
ullC : BRANCH, 1:

If,Line(14)}=~1,AS14, Yes:
If,Line{15}==1,A815, Yes:
If,Line{l§}==1,AS16, Yes:
If,Line(17}==1,AS1l7, Yes:
If,Line(l8)==1,AS18, Yes:
If,Line(19)==1,AS19, Yes:
If,Line(20)w=]l, RS20, Yes:
If,Line(2l)==]1,AS21,Yes:
If,Line(22)=m=]1,RAS522, Yes:
If,Line({23)==1,AS523, Yes:
If,Line(24)=m],AS24, Yes:
If,Line{25)=m]l,AS25, Yes:
Else,RS526, Yes:

P20 MOVE: Agvi{2),Agvctrl{2,4};

P21 ASSIGN: Line (26)=1:NEXT (LooplQ4}:

P15 FINDJ,

1,NQ{Dummyset {agvctrl(2,2)}): (Aque{Dummyset (Agvctrl(2,2)},J,26)==1);

Pls ASSIGN: A{21,entatrank(J,dummyset (agvctrl(2,2))})=agvetrl(2,4):
Agvctrl(2,4)=Buffer:NEXT(Branchl04_3):

M101 MOVE: Agvi{2),Filrsex (Intx {DT{agvctrl{2,1)))});

P23 BRANCH, 1:
If,Lt(Agv,2)==DT(Agvctrl(2,1)),P35, Yes:
Else, P34, Yes;

P35 ASSIGN: Agvctrl(2,5)=1:NEXT (BranchlQl);

P34 BRANCH, 1:

iIf,LT(agv,2)==Intl,Branchl(4,Yes:
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If,LT(agv,2)==Int2,Branchl04, Yes:
If,LT(agv,2)==Int3,Branchl04, Yesa:
If,LT(agv,2}==Int4,Branchl04, Yes:
If,LT(agv,2)==Int5,Branchl04, Yes:
If,LT{Agv,2)==Inté,Branchl04,Yes:
If,LT(Agv,2)==Int7,Branchl0d,Yes:
If,LT(AgV,2)==Int8,Branchl04,Yes:
If,LT{Agv,2)==Int9,Branchl04,Yes;
If,LT{Agv,2)==Intl0,Branchl04, Yes:
If,LT{Agv,2)==Intll, BranchlQ4, Yes:
If,LT(ARgv,2)==Intl2,Branchl(04, Yes:
If,LT(AgV,2)==Intl3,Branchl(4,Yes:
If,LT{agv,2)==Int27,Branchl(4, Yes:
If,LT{AgVv,2)==Int28,BranchlO4,Yes:

Else,M101, Yes;

P87 FINDJ,

1,nq(dummyset {agvctrl(2,1)}) :aque (dummyset (agvetrl(2,1}),J,26) ==1;

P88 ARSSIGN: A{26,entatrank{J, dummyset (agvctrl(2,1))))=0:
A({25,entatrank(J, dummyset (agvctrl(2,1)}))=1:NEXT{P89};

P16l MOVE: Agvi{2),Agvctrl(2,2);

P162 ASSIGN: Agvetrl (2, €)=1;

Branchlll BRANCH, 1:

If,IDSNET (AgvPath,LT (Agv,2),DT (AgvCtrl (2,3)))<=IDSNET (AgvPath, LT (ARgv,2),DT (AgvCtrl{2,4
})),Pl63,Yes:

Else,Pl71, Yes:
P163 MOVE: Agv(2},Agvctrl (2,3}
P164 ASSIGN: Line (18)=1:NEXT (Loopl02};’
P171 MOVE: Rgv(2},Agvctrl(2,4};
P172 BRANCH, 1l:

If,Agvctrl(2,4)==12,P173, Yes:
Else,P175, Yes;

P173 ASSIGN: Line (19)=1:NEXT (Loopl03);

P17% BRANCH, 13
If,nqg({queveset{Agvctrl({2,4)))<3,P173,Yes:
Else,P176, Yes:;

P176 BRANCH, 1:

If,Agvetrl(2,2)==15,P177,Yes;
Else,P179, Yes;

P177 FINDJ, 1,NQ (Dummyset{12}) : (Aque (Dummyset (12} ,J,26)==1);

P178 ASSIGN: A{2]1,entatrank (J,dummyset{12)})=Agvctrl(2,4):
Agvctrl(2,4)=Buffer:NEXT(MB101);

P179 FINDJ,

1,NQ{Dummyset (agvctrl(2,2))); (Aque (Dummyset (Agvetrl (2,2)),J,26)==1);

P180 RSSIGN; A{2l,entatrank (J,dummyset {agvctrl(2,2))))=agvctrl(2,4):
Agvetrl (2, 4)=Buffer:NEXT (MB101) ;

P118 MOVE: Agv(2),Firstx(Intx (DT (Agvctrl(2,3}))));

P119 BRANCH, 1:

If,Lt{Agv,2)==DT (Agvctrli2,3)},P120,Yes:
Else,P12], Yes;

P120 ABSIGH: Line (24)=1:NEXT (Loopl02);

P121 BRANCH, 1
If,LT{agv,2)==Intl,Branchl03, Yes;
If,LT{agv,2)==Int2,Branchl03, Yes;
If,LT(agv,2)==Int3,Branchl03, Yes:
If,LT(agv,2)==Int4,Branchl(3, Yes:
If,LT(agv,2)==Int5,Branchl03, Yes:
If,LT(Agv,2)==Int6,Branchl03, Yes:

\ If,LT{Agv,2)==Int7,Branchl(3,Yes;
If,LT(Agv,2)==Int8,Branchl03, Yes:
If,LT{Agv,2)==Int9,Branchl(3, Yes:
If,LT{(Agv,2)==Intl0,Branchl03, Yes:
If,LT{Agv,2}==Intll, BranchlQ3, Yes:
If,LT{Agv,2)==Intl2, BranchlQ3, Yes:
If,LT{Agv,2}==Intl3, Branchl03, Yes:
If,LT{Agv,2})==Int27,Branchl03, Yes:
If,LT(Agv,2)==Int28,Branchl03, Yes:
Else,P118, Yes;

Pl12 FINDJ,

1,NQ(Dummyset (agvctrl(2,1)}}: {Ague (Dummyset (agvetrl{2,1}),J,25)==1);

Pl15 ASSIGN: A(2l,entatrank{J,dummyset{agvctrl{2,1)}))=Agvctrli2,3}):
Agvetrl(2, 3}=Buffer:NEXT(Branchl03);

P107 BRANCH, 1:
If,LT(agv,2}==Intl,Branchl(Ql,Yes:
If,LT(agv,2)w=Int2,Branchl(l, Yes:
If,LT{agv,2)==Int3,Branchl0l, Yes:
If,LT{agv,2)==Intd,Branchl(l, Yes:
If,LT{agv,2)==Int5, Branchl(Ql, Yes:
If,LT{Agv,2)==Int6,Branchlll, Yes:
If,LT{Agv,2)==Int7, Branchl0l, Yes:
If,LT(Agv,2)==Int8,Branchl(l, Yes:
If,LT{Agv,2)==Int%, Branchl0l, Yes:



If,LT(Rgv,2)w=Intl0,Branchl0l, Yes:
If,LT{Agv,2)==~Intll,Branchl0l,Yes:
If,LT(Agv,2)==Intl2,Branchl0l, Yes:
If,LT(Agv,2)==Intl3, BranchlOl, Yes:
If,LT(Agv,2)==Int27,Branchl0l,Yes:
If,LT{Agv,2)»=Int28,Branchl0], Yes:
Else, P105, Yes;

1,nq(dummyaet(agvctrl(2,1))):aque(dummyset(aqvctrl(2,1)).J,ZS)--I;

A{26,entatrank(J,dummyset {agvctrl(2,1})))=0:
A(25,entatrank{J,dummyset (agvctrl{2,1)))})=1:NEXT(P52);
1l:

If,nq{queueset (Agvctzl(2,3)})<3,P4l,Yes:

Else, P42, Yes;

1l:

If,Agvctrl(2,1)w=15,P43,Yes: .
Else, P45, Yes;

1, NQ(Dummyset{12) ) : (Aque (Dummyset {12} ,J,25)==1);
A(21,entatrank{J, dummyset (12} })=Agvctrl {2,3):
Agvetrl(2,3)=Buffer:NEXT (Branchlll);

1,NQ(Dummyset (agvetrl(2,1})}: (Aque (Dummyset (agvetrl (2,1}),J,25)==1);
R{2l,entatrank{J,dummyset {agvctrl(2,1}))}=Agvectrl{2,3}:

Agvctrl (2,3)=Buffer:NEXT (Branchlll};
Agv(2),Agvctrl{2,4);
l-

If,AQvctrl{2,4)==12,p55, Yes:

Else, P54, Yes;

Line{15)=1:NEXT (Loopl03};

1:

If,nq{queuveset (Agvctrli{2,4)})<3, P55, Yes:
Else,P57,Yas;

ir

If,Agvctrl(2,2)==15,P58,Yes;

Else, P60, Yes;
1,NQ(Dummyset (12j } : {Aque (Dummyset (12} ,J,26)==1);
A(2l,entatrank(J,dummyset (12)))=Agvctrl{(2,4):
Agvetrl (2, 4)=Buffer :NEXT (Branchl07):

1,NQ({Dummyset (agvctrli{2,2))) : {(Aque (Dummyset (Agvetrl(2,2)},J,26)=n1); '
A{2l,entatrank(J, dummyset (agvctrl(2,2)})=Agvctrl{2,4):

Agvctrl(2,4)=Buffer:NEXT (Branchl0?);

Agv {2} ,Agvetrl (2,3}

1l:

1f,Agvetrl (2,3)==12, P83, Yes:

Else, P82, Yes;

Line{16)=1:NEXT {Loopl0l);

1:

If,nq(queueset (Agvctrl{2,3))1<3,P83, Yes:
Else, P90, Yes;

1:

1f,Agvetrl(2,1)==15, P91, Yen;

Else, P92, Yes;
1,NQ(Dummyset{12)): {Aque (Dummyset (12},J,25)»=]);
A{2l,entatrank{J,dummyset{12)) }=Agvctrl(2,3}:
Agvctrl(2,3)=Buffer:NEXT (Branchl08);

1,NQ(Dummyset (agvctrl{2,1)}): (Aque (Durmyset (Agvctrl(2,1}},J,25)==1);
A(21,entatrank (J,dummyset (agvctrl(2,1))})=agvctrl{2,3):

P49 FINDJ,
P51 ASSIGN:
P40 BRANCH,
P42 BRANCH,
P43 FINDJ,
P44 ASSIGN:
P45 FINDJ,
P46 ASSIGN:
MB102 MOVE;
F53 BRANCH,
PS5 ASSIGN:
B54 BRANCH,
P57 BRANCH,
-LY:] FINDJ,
P59 ASSIGN:
P60 FINDJ,
P61 ASSIGN:
pgo MOVE:
P81 BRANCH,
P83 ASSIGN:
P82 ERANCH,
P90 BRANCH,
P91 FINDJ,
P93 ASSIGN:
P92 FINDJ,
P94 ASSIGN:
B30 ALLOCATE,
P31 MOVE:
P32 ASSIGN:
AllolOl ALLOCATE,
4835 CREATE,

Agvetrl (2, 3)=Buffer:NEXT (Branchl0B});
l:agv(2),agvetrl(2, 2});
Agv{2},Agvectrl(2,2}:
Agvctrl{2,6)=1:NEXT (BranchlO4_1);
l:agv(2),agvetrl{2,1) NEXT{(M101);
80::NEXT (BBB) ¢
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894184 Experiment

PROJECT, QIMNSBO, ROTCHANART, 16/1/98, Yes;

ATTRIBUTES: 1,TimelIn:
2, 0ptNum;
3,1stLp:
4,0pt(6}:
10, MM(6}:
16,2ndLp:
17, NextMM:
18, NextMMl:
19,SetIndex:
20,C:
21, Remember:
22,CptNo;
23,K11:
24,K12:
25,K21:
26,K22;
27,Totalopt:
28,Lateness:
29,Tardiness:
30,Duedate:
31,Earliness;

VARIABLES: Bl:
CompareQ:
cmp(l4):
Agvctrl(2,6):
MQ:

Unit:
TardyJob:
I:
Sel(2):
Line(26):
2{13):
LO:

Del:

Z0:

N:

SelectO:

Unit0:

out:

Lock (11} :

Nontardy:

Nex:

Que:

Cap(2):

B-

DT{15),1,2,3,4,5,6,7,8,9,10,11,12,13,27, 28:
IntN;

INTERSECTIONS: 1,Intl,1,FCFS(),1.0:
2,Int2,1,FCFS(},1.0:
3,Int3,1,FCFS(},1.0:
4,Int4,1,FCFS(},1
5,Int5,1,FCFS(},1
6,Int6,1,FCFS(),1
7,Int7,1,FCF8{),1
8,Int8,1,FCFS{),1
9,Int%,1,FCFS{),1.0:

.10,Intl0,1,FCES{),1.0:
11,1Intll,1,FCFS(),1.0:
12,Intl2,1,FCFS(),1.0:
13,Intl3,1,FCFS(),1.0:
14,Intl4,1,FCFS(),1.0:
15,Intl5,1,FCFS(),1.0
16,Intlé,1,FCFS(),1.0
17,Intl7,1,FCFS(),1.0
18,Intl8,1,FCFS(),1.0
19,Intl9,1,PCFS(),1.0
20,Int20,1,FCFS{},1.0
21,Int21,1,FCFS{},1.0
22,Int22,1,FCFS{(),1.0:
23,Int23,1,FCF8{),1.0:
24,Int24,1,FCFS{(),1.0:
25,Int25,1,FCF5{),1,0:
26,Int26,1,FCFS{),1.0:
27,Int27,1,FCFS(),1.0:
28,Int28,1,FCFS(),1.0;

.0:
.0
WO

.0
.0z

v
H
v
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+
H
H
*
:
.
H
B



QUEUES:

RESOURCES:

STATIONS:

1,Ql,FlrstInFlrstout;
2,Q2,FiratInFixrstOut;
3,Q3,FirstInFirstOut:
4,Q4,FirstInFirstOut:
5,Q5,FirstInFirstOut:
6,06, FirstInFiratOut:
7.Q7, FirstInFirstOut:
8,08, FirstInFirstoOut:
9,Q9,FirstInFirstOut:
10,010, FirstInFirstOut:
11,Q11,FirstInFirstOut:
12,Q12,FirstInFiratOut:
13,Ql3,FirstInFfiratOut:
14,014, FirstInFirstCut:
15,015, FirscInFirstOut:
16,Q16,FirstInFiratQut:
17,Q17,FirstInFirstOut:
18,018, FiratInFirstOut:
19,Q19,FirstInFirstOut:
20,Q20,FiratInFirstOut:
21,Q21,FiratInFirstOut:
22,Q22,FirstInFirstOut:

23,AGV0ue, FirstInFirstout:
24,Bufferq, FirstInFirstoOut:

25,Q,FirstInFixrstOut:
26,D1,FirstInFirstOut:
27,D2,FirstInFirstOut:;
28,03, FirstInFirstout:
29,04, FirstInFirstout:
30,DS,FirstInFirstout:
31,D6,FirscInFirstOut:
32,07,FirstInFirstOue:
33,08, FirstInFirscCut:
34,09, FirstInFirstlut:
35,010, FirstInFirstout:
36,D11,FirstInFirstOut:
37,D12,FirstInFirstout:
38,D13,FiracInFirstOut:

39,Chkconl,FirscInFirstOut:
40,Chkcen2, FirstInFirstout:

41,agvl,FirstInFirstout:
42,AGVZ, FirstInFirstout:
43,qq,FlrstInFirscOut;

1,MCl,Capacity{l,):
2,MC2,Capacityil,};
3,MC3,Capacity(l,):
4,MC4,Capacity({l,):
5,MC5,Capacity(l,):
6,MC6,Capacity(l,}:
T,MC7,Capacity(l,):
8,MC8,Capacity(l,):
9,MC9,Capacity(l,):
10,MC10,Capacity(l,):
11,MCll,Capacity{l,):
12,BefQl2,Capacity(l,}:
13, BefQll, Capacity(l,}:
14,BefQld,Capacity(l,):
15,BefQl5,Capacity(l,):
16,BefQl€, Capacity(l,):
17,BefQl7,Capacityi{l,}:
18,8efQ18,Capacity(l,}:
19,BefQl18,Capacity(l,):
20,BefQ20,Capacity(l,):
21,BefQ21,Capacity(l,]:
22,BefQ22,Capacity(l,);

1,Deptl, Intl:
2,Dept2,Int2:
3,Dept3,Intl:
4,Dept4,Intd;
5,Depts,IntS:
6,Dept6,Int6:
7,Dept?,Int7;
8,Deptd, IntE:
9,Depts,Inty:
10,Deptl0,Intlo0;
11, Deptll, Intll:
12,Deptl2, Inti2;
13,ENTER,Int13;
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LINKS:

NETWORKS !

TRANSPORTERS:

TALLIES:

DSTATS:

REPLICATE,

SETS:

DaptSet, Deptl,

14,5taging,Int27:
15,Buffer,Int28;

1,L1,Int13—0,1nt18-,1,19,Unidirectiona1,1.0:
2,L2,Int18-0,Int19—,1,20,Unidirectiona1,1.0:
3,L3,Int19-0,Int3~,1, 60,Unidirectional 1.0
4,L4,Int3~0,Intlé-,1,12,Unidiyectional,1.0:
5,1L5%,Intl4~-0,Intll~,1,9,Unidirecticnal,1.0:
6,16,Intl1-0,Intl2~-,1,29,Unidirectional,1.0:
7,17,Int12~0,1nt15-,1,29,Unidirectional,1.0:
8,L8,Intl8-0,Int2~,1,11,Unidirectional,1.0:
9,L9,Int2-0,Intl7~,1,10,Unidirectional,l.0:
10,110, Int17-0,Int4-,1,19,Unidirectional,1,0:
11,L11,Int4-0,Int16~,1,6,Unidirectional,,0:
12,L12,Int16-0,Int8-,1,6,Unidirectional,1l.0:
13,L13,1ntB-0,Intl15-,1,5,Unidirectional,1l,0:
14,L14,Intl7-0,Intl4~,1,29, Unidirectional, 1.0:
15,L15,Intl5-0,1Int10~,1,14,Unidirectional,1.0:
16,L16,Int10-0,1Int20~,1,13,Unidirectional,1.0:
17,117, Int20-0, Int%~,1,12,Unidixrectional,1,0:
18,118, Int9-0,Int6~,1,21,Unidirectional,1.0:
19,119, Int6-~0, Int26-,1,13, Unidirectional,1.0:
20,L20,Int26-0,Int23=-,1,48,Unidirectional,1,0:
21,121,Int26-0,1nt25~,1,15,Unidirectional,1,0;:
22,L22,Int25-0,Int22-,1,12,Unidirectional,1.0:
23,L23,Int23-0,Int5-,1,9,Unidirectional,1.0:
24,L24,Int5-0,Int22-,1,9,Unidirectional, 1.0
25,L2%,Int22-0,Int21-,1, 6,Cnidirectional, 1.0:
26,L26,1Int21-0,Int20~-,1,12,Unidirectional,1.0:
27,L27,Int8~0,Int7-,1,5,0Onidirectional, 1,0
28,L28,Int7-0,Int25=,1,13,Unidirectional,1.0:
29,129,Int21-0,Intl6=,1,28,Unidirectional,1.0:
30,L30,Int23-0,Intl-,1,10,Unidirectional,1.0:
31,1L31,Intl~-0,Int24-,1,11,Unidirectional,1l.0:
32,132,Int24-0,Intl3-,1,8,Unidirectional,1.0;
33,133,Int24-0,Int1l9%~,1,49,Unidirectional,1l,0:
34,134,Int23-0,1Int27-,12,1,0nidirectional,1.0:
35,L35,Int27-0,Int24-,2,12,Unidirectional, 1.0:
36,L36,Int17-0,Int28~-,1,10,0nidirectional,1l,0:
37,L37,Int28-0,Int4~,1,10,Unidirectional,1l.0;

AGVPath,1-37;

1,AGV, 2, Network (AGVPath)-Start,200-0.0-0.0~1.0,Link{L34, }~Active-

Zone{l):

Earlyl:
Early2:
Late:
Flowtime:
Tardyl:
Tardy2;

1,NT(Agv)/2:

2, (NR(MC1)+NR({MC2) +NR(MC3) +NR (MC4) +NR (MCS) +NR(MCE) +NR{MC7) +NR (MCB} +

NR(MC9}+NR{MC1Q)+NR({MC11l})/11,UTIL_MC:
3, Tardyjob:

4, {lock(l)+lock (2)+lock {3} +lock{4)+lock (%) +1lock(6) +tlock(T)+lock{f}+

lock(9)+lock (10)+lock (11)) /11, LOCKING;
5,L0:
6,NQ(Bufferq):
7,NonTardy:

10,0, 6000, No, Yes, 3000;
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QueueSet,Q1,Q2,03,04,05,06,Q7,0Q08,Q9,010,Q11,Q12,Q013,Q014,015,Q16,Q17,Ql8,

Q1%,Q20,021,022:

Dept2,Dept3, Deptd, Dept5, Dept 6, Dept7, Dept8,Dept9, Deptl0, Deptll, Deptl12:
MachineSet,MC1l,MC2,MC3,MC4,MC5,MCH, MC7, MCB, MCI,MC10,MC11:
DummySet, D1, DZ, D3, b4, D5, D6,D7,D8,D09,010,011,D12,013:

BefQset,BefQl2,.BefQ22;
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